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Question Number : 1 Question Id : 97675519199 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A series is given with one term wrong. Select that WRONG term from the given alternatives.

UQ, SU, QY, OB, MG
Options :
1. % SU
2. % QY
3.¥ OB
4. * MG



Question Number : 1 Question Id : 97675519199 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 3fgepd fear T §, Ford 9§ v ue Tad ¢ | fau e faw e & § 39 7ed ug &1 gi-u|

UQ, SU, QY, OB, MG
Options :
1. ® SU
2. % QY
3.¥ OB
4. * MG

Question Number : 2 Question Id : 97675519200 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A series is given with one term missing. Select the CORRECT alternative from the given ones that will complete the series.

ML14, Ol46, QF78, SC110, UZ142, ?
Options :

1. ¥ WW174

2. % XX174

3. % XW184

4. % WW184

Question Number : 2 Question Id : 97675519200 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 3gepd fear mar B, o § ue ue g 31 U U il 7 ¥ 98 9el faded g, S 3w H B [T R

ML14, Ol46, QF78, SC110, UZ142, ?
Options :

1. ¥ WW174

2. % XX174



3. % XW184
4. % WW184

Question Number : 3 Question Id : 97675519201 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, select the odd word from the given alternatives.
Options :

1. ¥ Red

2. % Big

3. # Thin

4. % Tall

Question Number : 3 Question Id : 97675519201 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferiRed us # fau e fasbedl # 9 favw eg o1 gHT|
Options :

1. ¢ dld

2. % dgl

3. % Uddl

4. % &dr

Question Number : 4 Question Id : 97675519202 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the related letters from the given alternatives.

SV:XR:LC:?
Options :
1. * PW
2.9 QY



3. % RW
4. % YQ

Question Number : 4 Question Id : 97675519202 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafoRad oy & fou 7o fowed! & @ Sefda sieri &1 gl

SV:XR:LC:?
Options :
1. # PW
2. ¥ QY
3. % RW
4. % YQ

Question Number : 5 Question Id : 97675519203 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the related letter pair from the given alternatives.

STP : KGH :: ?
Options :

1. ¥ JVR : IEQ
2. % WPM : NKC
3. % XHQ :JSB
4. % BEN:YVM

Question Number : 5 Question Id : 97675519203 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o fau e fawedt & O d6fia siek g o1 gl

STP: KGH :: ?



Options :

1. ¥ JVR : IEQ
2. % WPM : NKC
3. % XHQ:JSB
4. ¥ BEN: YVM

Question Number : 6 Question Id : 97675519204 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, ‘PLAYER’ is written as ‘536819°, ‘COME’ is written as ‘4271°. What is the code for ‘YEAR’ in that code language?
Options :

1. % 8139

2. % 7139

3. ¥ 8169

4. % 7168

Question Number : 6 Question Id : 97675519204 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS fAfRIY BIS YW H, “PLAYER’ &1 *536819° oA ST &, “COME’ B! *4271° fora1 SITa1 8| I DI UIW H ‘YEAR® FT DIS 1 57
Options :

1. # 8139

2. % 7139

3. ¥ 8169

4. % 7168

Question Number : 7 Question Id : 97675519205 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, ‘India won the gold’ is written as ‘# * + (°, “You wear gold’ is written as ‘( @ &’, ‘Ladies like India’ is written as ‘%
*$°. What is the code for ‘Ladies like the won’ in that code language?

Options :



1% #=($

2. % (#+%
3.V $#+%
4.% % SH@

Question Number : 7 Question Id : 97675519205 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Wﬁﬁmm ‘J-HEITﬁ, ‘India won the gold’ Pl H#* = C %@TGIT('IT%, “You wear gold’ Cal ‘(@& %@T\_ﬂ?ﬂ%, ‘Ladies like India® @1 <% * $’
%IETGHHT%I 3 HIS UTNT H “Ladies like the won’ WWW%‘?

Options :

1. % #+($

2. % (#+%

3.9 8 #+%

4. % %S#@

Question Number : 8 Question Id : 97675519206 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Five boys A, B, C, D and E have different salaries. The salary of C is more than the salary of D. The salary of A is more than the salary of E. The
salary of A is less than the salary of B. The salary of C is less than the salary of E. How many boys have more salary than the salary of B?

Options :
1.¥0
2. % 1
3.%2
4. %3

Question Number : 8 Question Id : 97675519206 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U dS®H A, B, C, DIUTE ST RAfUT Ia 81 C HT1Ia D & 94 I HfUH &1 A BT AT E & da- I 3P 81 A HTdd- B & a1  HH |
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Options :
1.¥0
2. % 1
3.%2
4. %3

Question Number : 9 Question Id : 97675519207 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Six cars A, B, C, D, E and F were sold on six different days of a same week starting from Monday to Saturday (not necessarily in the same
order). Only one car is sold on one day. More than two cars were sold between B and C. One car was sold between D and E. A was sold just
before F. C was not sold on Monday. D was sold on Thursday. Which car was sold on Wednesday?

Options :
1. % A
2. % C
3. % E
4. ¥ F

Question Number : 9 Question Id : 97675519207 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

BE PR A, B, C, D, E IUT F IR Y AR d% TP &l T8 & Se [ad fei § ol 78 (SRed! Al &1 341 HH | 8l) | T a4 T gl
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Options :
1. % A
2.% C
3. % E
4. ¥ F

Question Number : 10 Question Id : 97675519208 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements
to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given
conclusion logically follows the given statements.

Statements:
I. Some S are Q.
II. All S are V.

Conclusions:
I. Some V are Q.
II. All Q are V.

Options :

1. ¥ Only conclusion I follows

2. % Only conclusion II follows

3. % Both conclusion I and II follows

4. % Neither conclusion follows

Question Number : 10 Question Id : 97675519208 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 3T T Uy & 8 U 3R 3% 918 31 HUHI IR SUING & 56y 3T T4 § 1 3T T H21 &1 91 A, 918 S8 Qg 1 9
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Options :
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2. % Had fHY 11 ST BT &
3. % G fIShY 1 T 11 SFJIR0T 6’ ©




4. % P1g Wl FpY SR 98] Rl §

Question Number : 11 Question Id : 97675519209 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements
to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given
conclusion logically follows the given statements.

Statements:
I. All P are Q.
II. No P are Z.

Conclusions:

I. Some Q are not Z.
II. Some Z are not Q.
III. Some Q are P.

Options :

1. ¥ Both conclusion I and II follows
2. ¥ Both conclusion II and III follows
3. ¥ Both conclusion I and III follows

4. % All conclusion follows

Question Number : 11 Question Id : 97675519209 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 foU T Uy T 58 U SR 39D 918 31 Bl R SMUTRT & (shs U MU 81 3T Tyl &1 9! 4M, 318 34 AH= 1 a2t
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IL.$S Z, Qi gl
1. $S Q, P g
Options :

1. % QI FT5BY 1 T 11 3FIERU $H1d §
2. % QI FISHY 11 TUT 111 3IIERU Hd §
3. ¢ G (SRS 1 T I S8R0 & §
4. % i} Fspy SFRRUT Rl §

Question Number : 12 Question Id : 97675519210 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the number which can be placed at the sign of question mark (?7) from the given

alternatives.

10| 58| ?

Options :
1. % 36
2. % 20
3.9¥ 25
4. % 30

Question Number : 12 Question Id : 97675519210 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



ol god & foT 17 Reedt # & T g (?) & T W 3= Je §E=41 A0

3 |78 20
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Options :
1. #® 36
2.% 20
3.¥ 25
4. % 30

Question Number : 13 Question Id : 97675519211 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the missing number from the given series.

2,4,8,32,256,?
Options :
1. = 882
2. % 892
3. % 8092
4.+ 8192

Question Number : 13 Question Id : 97675519211 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraforiaa oy & <€t 1S Y@e ¥ § g 3f J1d S|

2,4,8, 32,256, 7




Options :
1. % 882
2. % 892
3. % 8092
4.+ 8192

Question Number : 14 Question Id : 97675519212 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How many girls are neither boy nor mother?

Boy
Mother
Girl
82
Options :
1. %8
2. % 14
3. % 22
4. 82

Question Number : 14 Question Id : 97675519212 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fora=r w=ferar ar ot o= a1 & & 22

- 92 CECO)
46
wa— //- i
( EECI
82
Options :
1. %8
2. % 14
3. % 22
4.9 82

Question Number : 15 Question Id : 97675519213 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Point P is 4 metre east of Point Q. Point R is 3 metre north of Point Q. Point S is 6 metre south of Point R. How is point P from Point S?
Options :

1. # 4 metre

2. ¥ 5 metre

3. % 8 metre

4. # 10 metre

Question Number : 15 Question Id : 97675519213 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

figp g QA4 MRy ARIfgR, Mg QA3 Hex S AgIfdg s, igr A6 M R A g1 figp, g s A fha R 82

Options :



1. % 4R
2. ¢ 5HIR
3. % g iR
4. % [0 HIR

Question Number : 16 Question Id : 97675519214 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Naresh walks 100 km towards the north. He turns to the left and walks 100 km. He turns to the right and walks 100 km.

He turns to the left and walks 100 km. Finally, he turns to the left at an angle of 135° and walks 1002 km. How far
and in which direction is he now from starting point?
Options :

| % 200+/2 km, North-West

» = 200 v2 km, North-East
3« 100 \/2 km. North-West

4 % 1002 km, North-East

Question Number : 16 Question Id : 97675519214 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Y Jeax H 3R 100 famaAr. =orar &1 3€ ST 3R Asar & I 100 A =erar g 98 e 3R FqEar
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Options :



| % 200V2 TRAY, SeET-aieas

, % 200V2 TRAL, SeR-T

s« 100V2 AT, 3eav-afiEs

100v2 &, seR-0@

4. %

Question Number : 17 Question Id : 97675519215 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the figure which can be placed at the sign of question mark (?) from the given

alternatives.
PArA|lAgDO]|OAX]|[x2P
(T) (T‘.b ‘?
X v O Pwl«x AJ«P Owv A
Options :
AT P
| % Xwv O
)(AP
< >
OvA

2. 8




| L

X ¥ A
3. %

PPA
" X v

Question Number : 17 Question Id : 97675519215 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frrafaf@a e # fow o7 fwredt 7 & w7 ey (?) F Fa 9 3= Jrel ampfa & gav

PMA[|A4DO B4 X| (X4 P
(T)' (T) <T> '?
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Options :
AT P
1%)( O
X4+ P
OvA




"r.:'
O

X ¥ A
3. %

PPA
W X v

Question Number : 18 Question Id : 97675519216 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question. select the WRONG figure from the given series.

P Ol[Aa AllIA A= X||X 0O
A AP Ol|l= X||A A|l|l= P
X Z||I= X||P OO PlIA A

Options :

RN
X[O>

g || 3>
OX P




Ol
P> X

O
P
A

> 11 X

4. ¢

Question Number : 18 Question Id : 97675519216 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frefaf@a wea #, & 2 s/@er 7 ¥ e gfa # AT

Ora AllA A= X[ |X O
A AlIP Ol|= X||A Al|= P
X =ll= XI|P OO PllA A
Options :
A A
S
= X




A A

=~ X

P O
2. ®

= X

A A

O P
3. %

X O3

= P
4. ¢ A A

Question Number : 19 Question Id : 97675519217 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If a mirror is placed on the line AB, then which of the answer figures is the right image of the given figure?

A

<

Options :



R\l

-|\ -’O"\'

1. #®

Y Y [

.

) s iS1

Question Number : 19 Question Id : 97675519217 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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5

24

Options :

2. ¢

oLy By ik




Question Number : 20 Question Id : 97675519218 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
By folding the given paper, which of the following cube can be made?

Al B
C|D
F
| I 111
Options :
1. ® Tand II
2. ® Jand III

3.4 [l and 111
4. ® I, IT and III

Question Number : 20 Question Id : 97675519218 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

few a1v FETe & Az W, AR # ¥ Si9 ' 99§37 37 GeRdar 87

A
D
F
P 9 &
| 11 I11
Options :
1. % 1dUTII
2. % 1dYUTIIT
3.9 I AT IIT
4. % I 11dYUTIIT
General Awareness
Group Number : 2
Group Id : 976755631
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20

Is this Group for Examiner? : No



General Awareness

Section Id : 9767551061
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 9767551230
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 97675519219 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT a percussion instrument?
Options :

1. ¥ Kamaicha

2. % Tabla

3. ® Ankya

4. % Alingya

Question Number : 21 Question Id : 97675519219 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fgfefad & ¥ ®F T drd arer Ag) 82

Options :
1. ¢ Sl
2. % ddcll




3. % 3hdl
4. % ITfeig

Question Number : 22 Question Id : 97675519220 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which state of India, Iravatanesvara Temple is situated?
Options :

1. # Maharashtra

2. % Tamil Nadu

3. % Karnataka

4. % Kerala

Question Number : 22 Question Id : 97675519220 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
RITART TR YR & ooy o B Ry 82
Options :

1. % TERTY

2. ¢ AfeArg

3. % BAICH

4. % H

Question Number : 23 Question Id : 97675519221 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the ratio of the stock of money to the stock of high-powered money in an economy is called?
Options :

1. # Money supply

2. % Money exchange

3. ® Money credit



4. ¥ Money multiplier

Question Number : 23 Question Id : 97675519221 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o1 & Wb BT TR T & Wb J SUT b T BT ol 82
Options :

1. % TgT 3MTgfc

2. % Har famg

3. % Hal qrd

4. ¥ gl 1[UIh

Question Number : 24 Question Id : 97675519222 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Price elasticity of demand for a good depends on the

L. nature of good
II. availability of close substitutes

Options :

1. * Only I

2. % Only II

3. % Both I and II
4. # Neither I nor II

Question Number : 24 Question Id : 97675519222 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fopreit avg & foTd |7 Bt S Ard g & R R Fxedt 7
1. 9% DI UPpfd

1. Fhedd RIMTH 9¥%g B Sudsd]
Options :




1. % Had 1
2. % Had Il
3. [ QYT ISl
4. % GBI

Question Number : 25 Question Id : 97675519223 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT an abiotic components of ecosystem?
Options :

1. % Temperature

2. % Soil

3. # Rainfall

4. ¥ Plants

Question Number : 25 Question Id : 97675519223 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ol § 3 o UIRd &1 Th 3foid 9ch T8l o2
Options :

1. # dIYHME

2. % Hal

3. % gy

4.9

Question Number : 26 Question Id : 97675519224 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Main constituent of biogas is

Options :

1. # Butane



2. % Methane
3. # Ethane
4. ¥ Propane

Question Number : 26 Question Id : 97675519224 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
EiRinrRcaRecer harc A
Options :

1. % &

2. ¢ Higq

3. % 99

4. % YU

Question Number : 27 Question Id : 97675519225 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement is NOT correct?

I. Water vapour gets added to air by evaporation and transpiration.
II. The circulation of water between ocean and land is known as the water cycle.

Options :

1. * Only I

2. % Only II

3. % BothIandII
4. ¥ Neither I nor II

Question Number : 27 Question Id : 97675519225 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraffad & 9 &1 91 YU 9g T8t 82
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Options :

1. % Had I

2. % Had I

3. % [ QYT
4. TIRIIATRII

Question Number : 28 Question Id : 97675519226 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT a method of soil conservation?
Options :

1. % Mulching

2. % Terrace farming

3. # Contour ploughing

4. ¥ Mitigation mechanism

Question Number : 28 Question Id : 97675519226 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFofafed # O o1 I gar IR o1 fafd =8t 82
Options :

1. * Hed &I

2. % qfgeT BTH

3. % GHEREN SdTs

4. ¢ GBI fehariafe

Question Number : 29 Question Id : 97675519227 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



India is largest producer of rice in the world.
Options :

1. % third

2. ¥ second

3. # fourth

4. # gixth

Question Number : 29 Question Id : 97675519227 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YRAYHAEa sl oY 981 SUCH g
Options :

1. % drRT

2. ¥ I

3. % T

4. % B4l

Question Number : 30 Question Id : 97675519228 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Ravikirti was a court poet of

Options :

1. # Harshvardhan

2. # Kanishka

3. % Pulakeshin II

4. # Chandragupta Mourya

Question Number : 30 Question Id : 97675519228 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rfawpifd & GRIRI Bid |

Options :



Question Number : 31 Question Id : 97675519229 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Raziyya was removed from the throne in
Options :
1. % 1236
2.9 1240
3. % 1232
4, % 1238

Question Number : 31 Question Id : 97675519229 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
# o o1 Rigra & ger fear man
Options :
1. #® 1236
2. ¥ 1240
3. % 1232
4. % 1238

Question Number : 32 Question Id : 97675519230 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Babur defeated Rana Sanga at Khanua in
Options :
1. % 1525



2. % 1526
3. ¥ 1527
4. %= 1528

Question Number : 32 Question Id : 97675519230 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

GTaT & STER = 707 i B o g Tl
Options :

1. % 1525

2. % 1526

3. ¥ 1527

4. % 1528

Question Number : 33 Question Id : 97675519231 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rajaraja I was the most powerful ruler of dynasty.
Options :

1. #* pallava

2. ¥ chola

3. * chandelle

4. % chalukya

Question Number : 33 Question Id : 97675519231 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

NENER I & GaY KI=ATel A 3|
Options :

1. # Uerld

2. ¢



3. % d3d
4. % g

Question Number : 34 Question Id : 97675519232 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who is the author of Book “Unfinished”
Options :

1. # Peter Mukerjea

2. # Irwin Allan Sealy

3. % Meghna Pant

4. ¥ Priyanka Chopra Jonas

Question Number : 34 Question Id : 97675519232 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
“3FFTS” TH® & EH DI 62
Options :

1. # diex gt

2. % Sfa T diedt

3. % AU Ud

4. ¢ 0GP ATS ST

Question Number : 35 Question Id : 97675519233 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following pair of International Organisation — Headquarters is CORRECT?

I. NATO — Brussels
II. UNDP — New York

Options :
1. * Only I



2. % Only II
3.4 BothIand II
4. % Neither [ nor 11

Question Number : 35 Question Id : 97675519233 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RIS WiTe - geurera 1 Fafifed & 9 &9 91 gm |8l 82
1. et - g

1L QA SLUt. - =gaid
Options :

1. % dhad |

2. % Had Il

3. 1AUT I Gl

4. % ATBIIATSIII

Question Number : 36 Question Id : 97675519234 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which schedule of Indian constitution there is provisions as to disqualification on ground of defection?
Options :

1. # 9th schedule

2. % 10th schedule

3. % 8th schedule

4. ¥ 12th schedule

Question Number : 36 Question Id : 97675519234 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



YR Ifaer Pt fha 3t & g uRad- & 3MUR W FAREd & TR & Jusy 32
Options :

1. % odf 3l

2. ¢ 109t S

3. % gl Il

4. % 1241 STl

Question Number : 37 Question Id : 97675519235 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement is CORRECT?

L. Part IV of Indian constitution deals with provision of fundamental rights.
II. Article 24 of Indian constitution deals with freedom to manage religious affairs.

Options :

1. % Only I

2. % Only IT

3. % BothIand II
4. ¥ Neither I nor II

Question Number : 37 Question Id : 97675519235 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafiRad 7 9 &F 91wy I8 82

. YRS TG &1 HIT 1V T ISR & Trau™ 4 e&fd g
1. HRTTT T FT 3we 24 UG BT b T B Wadl 3 Ta1ed g

Options :

1. % PHadl

2. % Had Il

3. % [qUT el
4. I



Question Number : 38 Question Id
Orientation : Vertical

: 97675519236 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25
How many total medals did India won at the 2020 Tokyo Olympics (Played in 2021)?

Options :
1. %5
2.% 6
3.7
4. % 4

Question Number : 38 Question Id
Orientation : Vertical

: 97675519236 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25

RN 3l 2020 (2021 T W TT) F YRA A $od fobd U Sild A2

Options :
1. %5
2.% 6
3.7
4. % 4

Question Number : 39 Question Id
Orientation : Vertical

: 97675519237 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25
Which country will host the 2034 Asian Games?

Options :

1. # Qatar

2. ¥ Saudi Arabia
3. # Iran

4. # Tajikistan

Question Number : 39 Question Id

: 97675519237 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

2034 TS Tl Bt AT DI I <= BT
Options :

1. ® dd

2. ¢ T34l 3Rfean

3. % A

4. % gt

Question Number : 40 Question Id : 97675519238 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following pair of cricket tournament — format is CORRECT?

I. Syed Mushtaq Ali Trophy — 50 over
II. Vijay Hazare Trophy — 20 over

Options :

l. % Only I

2. % Only II

3. # BothIand II
4. ¢ Neither I nor II

Question Number : 40 Question Id : 97675519238 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fhope gAMC — BHHc &1 FufiRad o 9 &1 91 31 W8l 82

1. R gRATd 3l TIBT — 50 iR
11 T3S 8GR ¢t — 20 3R
Options :

1. % $had |

2. % had Il




3. % 1dUT I Sl
4. ATBIIATRII

Arithmetic Ability

Group Number : 3

Group Id : 976755632
Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No

Arithmetic Ability

Section Id : 9767551062
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 9767551231
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 97675519239 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



(0.5)-(03)

What is the value of =
(05 ~0.15+(0.3)

Options :
1. % 0.1
2.90.2
3. % 0.6
4. % 0.8

Question Number : 41 Question Id : 97675519239 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
(0.5 - (0.3)

: _ F AT F4AT 87
(05) +0.15+(0.3)

Options :
1. % 0.1
2.90.2
3. % 0.6
4. % 0.8

Question Number : 42 Question Id : 97675519240 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Least Common Multiple of two numbers is 675 and their Highest Common Factor is 27. If one of the numbers is 81, then what is the other
number?

Options :
1. % 375
2. % 250
3. ¥ 225
4. % 175

Question Number : 42 Question Id : 97675519240 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& st o1 TYTH THIUG 675 TUT 36T HeaH JHIGAS 27 § | Tfe 38 1 Udh TeT 81 &, df gusl I &1 82
Options :

1. % 375

2. % 250

3.9 225

4. % 175

Question Number : 43 Question Id : 97675519241 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Value of the selling price of an article is 60 percent of the value of discount offered on it. What is the discount percentage?
Options :

1. ¥ 62.5 percent

2. # 67.5 percent

3. % 72.5 percent

4. % 80 percent

Question Number : 43 Question Id : 97675519241 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T I & [ashd Hed BT AMH 39 R &1 T8 Fe & AH BT 60 Ta<id & | Fe Uia=rd o g2

Options :

1. ¢ 62.5 Ufa=rd
2. % 67.5 Ufa=d
3. % 725 gfavd
4. % g0 yfaerd

Question Number : 44 Question Id : 97675519242 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Average weight of the students of class A, B, C, D and E are 40 kg, 48 kg, 43 kg, 60 kg and 80 kg respectively. If number of students in class A,
B, C, D and E are 50, 40, 45, 40 and 25 respectively, then what is the average weight all the students of these five classes?

Options :

1. # 50.125 kg
2. % 5325kg
3. % 52.375kg
4. ¥ 51.275kg

Question Number : 44 Question Id : 97675519242 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HET A, B, C, D AT E & Ao o7 3gd YR AT 40 fb.31, 48 b .3m, 43 531, 60 fb.3m. qur 80 f5. 7M. B 1 afd pem A, B, ¢, DAUTE A
faenffal ot T=a HH: 50, 40, 45, 40 TUT 25 B, A 39 U Hemsii & T} faenfial &1 shaa YR w82

Options :

1. % 50.125 foo .

2. % 5325 fH .

3. % 52375 ..

4.+ 5127563

Question Number : 45 Question Id : 97675519243 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the value of 80 percent of 40 percent of 4000?
Options :

1. % 1280

2. % 1420

3. % 1560

4, % 1750

Question Number : 45 Question Id : 97675519243 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



4000 % 40 TTI=TId & 80 UFIRI &1 HTH T 82
Options :
1. 1280
2. % 1420
3. % 1560
4. % 1750

Question Number : 46 Question Id : 97675519244 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Price of sugar is increased by 80 percent. By what percent a consumer must reduce his consumption of sugar to keep the expenditure same?
Options :

1. # 55.55 percent

2. ¥ 44 .44 percent

3. % 42.56 percent

4. ¥ 37.56 percent

Question Number : 46 Question Id : 97675519244 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

=t & T BT 80 UTARId & FeT fea1 7T 8 | U SUHIGT Bl S{UAT i1 Bt WU ! fahd- Uia=Id I HH BT dMgT dlfch Gl JHH g2
Options :

1. % 55.55 Gfa=rd

2. ¥ 44 44 Gfa=Id

3. % 42.56 Ufd<d

4. % 37.56 Yfa=rd

Question Number : 47 Question Id : 97675519245 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A bottle is sold at a profit of 28 percent. If cost price of bottle is Rs. 2688 less than the selling price, then what is the cost price of this bottle?
Options :



1. ¥ Rs. 7200
2. % Rs. 8400
3. % Rs. 8800
4. % Rs. 9600

Question Number : 47 Question Id : 97675519245 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP Siad DI 28 UTIRIT & ATH TR 991 T g | IS Sidd &1 hd Jo, faha e § 2688 $UT &H g, Al Sdd &1 569 Jod ol 87
Options :

1. % 7200 300
2. % 8400 TYY
3. % 8800 34U
4. ¥ 9600 3T

Question Number : 48 Question Id : 97675519246 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Selling price of a fan and a flower are Rs. 6720 and Rs. 2340 respectively. If fan is sold at a profit of 60 percent and flower is sold at a profit of
30 percent, then what is the overall profit percentage?

Options :

1. ¥ 51 percent
2. % 48 percent
3. % 54 percent
4. % 45 percent

Question Number : 48 Question Id : 97675519246 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TP TRd IUT U B BT fashd Jed HHLL: 6720 TYY IUT 2340 ST § | TS TR BT 60 YA & H TR =01 77 § a1 T Bl 30 Ufa<d &
T TR S T &, df $dl oTH Uia=id a1 82

Options :




1. ¢ 51 gfd=rd
2. % 483 Yfard
3. % 54 Yfard
4. % 45 gfaerd

Question Number : 49 Question Id : 97675519247 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IfA:B:C=3:9:11.and sum of A, B and C is 3450, then what is the value of B?
Options :

1. # 945

2. % 1050

3.9 1350

4. % 1420

Question Number : 49 Question Id : 97675519247 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IfEA:B:C=3:9:11TUTA, BT C BTN 3450 B, Al B BT M &I 57
Options :

1. % 945

2. %1050

3.9 1350

4. % 1420

Question Number : 50 Question Id : 97675519248 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ratio of the incomes of Rahul and Manoj is 10 : 7 respectively and the ratio of the expenditure of Rahul and Manoj is 5 : 4 respectively. If Rahul
and Manoj save Rs. 25000 and Rs. 15000 respectively, then what is the income of Rahul?

Options :
1. % Rs. 60000



2. % Rs. 40000
3. % Rs. 45000
4. ¥ Rs. 50000

Question Number : 50 Question Id : 97675519248 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TGS IUT AT Pt TG T SUTT HHT: 10 : 7 8 IUT G a1 AT & T T U HH: 5 : 4 81 AfS TGS YT HANS HHRT: 25000
FUY AT 15000 TT T ©, AT AGA P11 T 82

Options :

1. % 60000 3T
2. % 40000 3T
3. % 45000 3T
4. ¥ 50000 T

Question Number : 51 Question Id : 97675519249 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Compound interest (compounding annually) on a sum at the rate of 20 percent per annum for 2 years is Rs. 16720. What is the sum?
Options :

1. ¥ Rs. 38000

2. % Rs. 40000

3. % Rs. 42000

4. % Rs. 45000

Question Number : 51 Question Id : 97675519249 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T MR W 20 Yfa<ra Ui I &t = T 2 Iuf & o Tehafa sare (@1fifes WO W) 16720 39 § | AR 1 82

Options :
1. ¢ 38000 SUT



2. % 40000 ST
3. % 42000 3T
4. % 45000 3UY

Question Number : 52 Question Id : 97675519250 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Difference between compound interest (compounding annually) and simple interest on a sum of Rs. 92000 is Rs. 920 for 2 years. What is the
amount at compound interest (compounding annually) on the same sum for three years at the same rate of interest?

Options :

1. ¥ Rs. 122452
2. % Rs. 110124
3. % Rs. 114126
4, % Rs. 116522

Question Number : 52 Question Id : 97675519250 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TH 92000 ¥UT P AR TR &I I8 & {oT Iehgfa saTo (@I TS UR) TUT WIERUT TS & & DI 3R 920 ¥ 5 | THH AFA W ST
& UM &R I A aui o forg Iehgfa e R g @ Taieq W) 3182

Options :

1. ¥ 122452 04

2. % 110124 30T

3. % 114126 39U

4. % 116522 30°

Question Number : 53 Question Id : 97675519251 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Vipul can cover a distance of 400 metres in 25 seconds. What is the speed of Vipul?
Options :

1. # 48.4 km/hr



2. % 49.6 km/hr
3. # 50.4 km/hr
4. % 57.6 km/hr

Question Number : 53 Question Id : 97675519251 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faga 400 Wex Bt U g 1 25 Yobha T a0 HR Yol ¢ | faga &t ifd g2
Options :

1. % 48.4 fo 4t /edeT

2. % 49,6 foo Hl/gcT

3. % 50.4 foo 1 /5icT

4. ¢ 57.6 fob 4t /et

Question Number : 54 Question Id : 97675519252 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Two trains of length 520 metres and 480 metres are moving towards each other with the speed of 90 km/hr and 54 km/hr respectively. In how
much time will they cross each other?

Options :

1. # 30 seconds
2. # 36 seconds
3. % 40 seconds
4. ¥ 25 seconds

Question Number : 54 Question Id : 97675519252 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

520 Tex qT 480 Hiex T 1 YAISAT T G- DI 3R HHRT: 90 . 7. /der auT 54 fop. /. /et & 1fd § I T & 1 J T goR ! fbaq
THY H IR B

Options :

1. % 30 Abg



Question Number : 55 Question Id : 97675519253 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Praveen alone and Namit alone can complete a work in 15 days and 25 days respectively. If they complete work together and they receive Rs.
5600, then what is the share of Praveen?

Options :

1. ¥ Rs. 3500
2. % Rs. 4200
3. % Rs. 2100
4. % Rs. 2800

Question Number : 55 Question Id : 97675519253 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A 3(dhcl QT A0 3(dhcl Ub BT DI hHRT: 15 e qUT 25 G T QR o Favdd 5| IS 3 FAHR TP BT &I RI d § a1 376 5600
FUY T8I &, o Udi b1 fe=am e g2

Options :

1. ¥ 3500 Y

2. % 4200 9TY

3. % 2100 39T

4. % 2800 3TY

Question Number : 56 Question Id : 97675519254 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ramesh alone and Dev alone can complete a work in 420 days and 140 days respectively. Dev and Virat together can complete the same work in
60 days. In how many days Ramesh and Virat together can complete the same work?

Options :



1. # 105 days
2. ¥ 84 days
3. % 96 days
4. % 72 days

Question Number : 56 Question Id : 97675519254 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 3B qYT & 3fcbel Th BT D1 HH: 420 F&T TUT 140 &1 H QIR ebdl &1 ¢ 7T fORTe fireresR I v 1 60 feT A g e
Tahd g | TR 9T favTe fiae: que &1 & fhdq i 3 1 9ohd g2

Options :

1. % 105fem
2. ¢ g4 feq
3. % 96 fam
4. % nfeq

Question Number : 57 Question Id : 97675519255 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The length and breadth of a rectangle are 28 cm and 35 cm respectively. What is the area of the largest circle that can be drawn inside the
rectangle?

Options :

1. ¥ 616 cm?
2. % 8624 cm?
3. % 3850 cm?
4. % 962.5 cm?

Question Number : 57 Question Id : 97675519255 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TP T &1 SIS 9UT ANSTS HH: 28 T, auT 35 1Y, §1 3Mad & 3ieR Wi S YhA I1d a4 98 g9 H1 8% d 1 82




Options :

1.¥ 616 9.2

2. % 8624 9.2
3. % 3850 Q.12
4. % 962.5 9.1 2

Question Number : 58 Question Id : 97675519256 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The pie chart given below shows the number of cars sold by eight companies. The total number of cars sold by all

these eight companies are 6000. Number of cars sold by a particular company is shown as a percent of total number
of cars sold by all these eight companies.

Which of the following statement is CORRECT?

L The number of cars sold by B is 200 percent of the number of cars sold by D.

II. The ratio of number of cars sold by A to the number of cars sold by F are 2 : 1.
Options :

1. ¥ Only I

2. % Only Il

3. % Both I and II



4. % Neither I nor 11

Question Number : 58 Question Id : 97675519256 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o e e geq R e FufAAt cary S w1 FRT fr FE ST g1 59 |t e FHuiaat
garT A= TS FRI T Hor FEAT 6000 B T AT FA ganr = a9 FR Fr FEAT Fr 57 T
S FATAET SaRT §= 315 FRI HT Fol FEAT & Flaeld & & H AT 7147 ¢

=afEa § @ s 3 #a7 §dr 87
. B gaRT 3= 7% FRT H FEAT, D @RT §= 9% FRT FT FE@r 200 wiFea g
. A EaRT 3= a1 HRT T T FT F @R A= A7 SR T HEA F HJOF 2 0 1 2

Options :

1. Had I

2. % Had Il

3. % [ UGl
4. % GBI

Question Number : 59 Question Id : 97675519257 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

The line chart given below shows the marks obtained by five students in a subject.

100

30
a0

o0

51 52 53 54 55

The marks obtained by S1 is what percent of the marks obtained by S57
Options :

1. % 50 percent

2. % 100 percent

3. % 80 percent

4. % 200 percent

Question Number : 59 Question Id : 97675519257 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



= fear srr W@ T v faww # 919 orET @Ry Wod 3R Fr ST g

100
—
- —. 90
80 e po! 3
"'*--x__x S 3 b
- N
60 \
=40
51 52 53 54 55

S1 SIRT 9Tea 3%, S5 ZIRT IIod Hehl &1 ohaell Fiaera g7
Options :

1. % 50 gfa=rd

2. % 100 Ufaerd

3. % 80 Hfderd

4. ¥ 200 Yfa=rd

Question Number : 60 Question Id : 97675519258 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The bar graph given below shows the marked price and selling price of five articles.

500
400 400
350 350
300 300
200
150
100
A B Cc D E
OMarked Price @ 5alling Price

J1 = The value of average of marked price and selling price of article A
J2 = The value of average of marked price of article C, D and E.

What is the value of (J1 —J2)?
Options :
1. % 100
2.9 150
3. % 200
4. % 250

Question Number : 60 Question Id : 97675519258 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



e femr T gvs R 9w aEgHt & Afed Hed aur T Jeg # g 2

500
400 400
350 350
300 ] 300
200
150
J_hﬂ
A B c D £
O #fea Aea @ 5T 709
J1 = 38g A & 3frg qeo aur Bwa 770 & g &1 A

J2 = 3% C, D 9T E & 3fhd 7w & 3itaa &1 A

(J1 - J2) T AT T 872

Options :

1. % 100

2. ¥ 150

3. % 200

4. % 250
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Question Number : 61 Question Id : 97675519259 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Language is a constant / companion during /our life journey. / No error
Options :

1. * Language is a constant

2. % companion during

3. * our life journey.

4. ¥ No error

Question Number : 61 Question Id : 97675519259 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Language is a constant / companion during /our life journey. / No error
Options :

1. # Language is a constant

2. % companion during

3. # our life journey.

4. ¥ No error

Question Number : 62 Question Id : 97675519260 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

The population of / Uttar Pradesh is greater / than Jharkhand. / No error
Options :

1. # The population of

2. % Uttar Pradesh is greater

3. ¢ than Jharkhand.

4. % No error

Question Number : 62 Question Id : 97675519260 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

The population of / Uttar Pradesh is greater / than Jharkhand. / No error
Options :

1. * The population of

2. % Uttar Pradesh is greater

3. ¥ than Jharkhand.

4, % No error



Question Number : 63 Question Id : 97675519261 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select ‘No
improvement’ as your answer.

She slow turned her back to him.
Options :

1. ¥ slowly turned

2. # slower turn

3. % slow turns

4. ¥ No improvement

Question Number : 63 Question Id : 97675519261 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select ‘No
improvement’ as your answer.

She slow turned her back to him.
Options :

1. ¥ slowly turned

2. ® slower turn

3. ® slow turns

4. ¥ No improvement

Question Number : 64 Question Id : 97675519262 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select ‘No
improvement’ as your answer.

An agent knock at the door in some ordinary home.



Options :

1. # knock at the door of some
2. # knocks on the door in some
3. ¥ knocks on the door of some

4. ¥ No improvement

Question Number : 64 Question Id : 97675519262 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select ‘No
improvement’ as your answer.

An agent knock at the door in some ordinary home.

Options :

1. # knock at the door of some
2. % knocks on the door in some
3. ¥ knocks on the door of some

4. % No improvement

Question Number : 65 Question Id : 97675519263 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word/words. Choose the CORRECT alternative.

Rahul can the books out of the shelf.
Options :

1. ¥ take

2. # took

3. # taken

4. % takes

Question Number : 65 Question Id : 97675519263 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word/words. Choose the CORRECT alternative.

Rahul can the books out of the shelf.
Options :
1. ¥ take
2. # took
3. # taken
4. * takes

Question Number : 66 Question Id : 97675519264 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the CORRECT alternative.

They decided to from their houses and get married somewhere.
Options :

1. # vanish

2. # hurry

3. # awake

4. ¥ elope

Question Number : 66 Question Id : 97675519264 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the CORRECT alternative.

They decided to from their houses and get married somewhere.
Options :

1. * vanish

2. % hurry

3. % awake

4. ¥ elope



Question Number : 67 Question Id : 97675519265 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the sentences to form a
coherent paragraph.

P: Through competition, they may have contributed to the extermination of the Tasmanian wolf and Tasmanian devil, both marsupials, on the
Australian mainland.

Q: Dingoes are large carnivores.

R: Historically, they prayed mostly on kangaroos and wallabies, but their diet changed with the introduction of the European rabbit into Australia
in the mid-19th century.

S: Now dingoes consume mostly rabbits and small rodents.

Options :

1. ¥ PQSR
2. ¥ QRSP
3. % SQRP
4. % PSQR

Question Number : 67 Question Id : 97675519265 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the sentences to form a
coherent paragraph.

P: Through competition, they may have contributed to the extermination of the Tasmanian wolf and Tasmanian devil, both marsupials, on the
Australian mainland.

Q: Dingoes are large carnivores.

R: Historically, they prayed mostly on kangaroos and wallabies, but their diet changed with the introduction of the European rabbit into Australia
in the mid-19th century.

S: Now dingoes consume mostly rabbits and small rodents.

Options :

1. % PQSR

2. ¥ QRSP

3. ¥ SQRP



4. % PSQR

Question Number : 68 Question Id : 97675519266 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the sentences to form a
coherent paragraph.

P: He attended Harvard University’s law school, where he was the first African American to serve as president of the Harvard Law Review.

Q: Even before entering the White House, Obama had been making history.

R: On January 20, 2009, Barack Obama was inaugurated as the first African American president.

S: After settling in Chicago, he entered politics in 2004, defeating Republican Alan Keyes in the first U.S. Senate race in which the two leading
candidates were black.

Options :

1. # QPRS
2. ¥ RQPS
3. % SQRP
4. ¥ RQSP

Question Number : 68 Question Id : 97675519266 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the sentences to form a
coherent paragraph.

P: He attended Harvard University’s law school, where he was the first African American to serve as president of the Harvard Law Review.

Q: Even before entering the White House, Obama had been making history.

R: On January 20, 2009, Barack Obama was inaugurated as the first African American president.

S: After settling in Chicago, he entered politics in 2004, defeating Republican Alan Keyes in the first U.S. Senate race in which the two leading
candidates were black.

Options :

1. % QPRS
2. ¥ RQPS
3. % SQRP
4. % RQSP



Question Number : 69 Question Id : 97675519267 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that means the same as the given word.

Enforce
Options :

1. ¥ Implement
2. % Ample

3. % Imperial
4. * Balk

Question Number : 69 Question Id : 97675519267 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that means the same as the given word.

Enforce
Options :

1. ¥ Implement
2. % Ample

3. % Imperial
4. = Balk

Question Number : 70 Question Id : 97675519268 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that is opposite in meaning to the given word.

Feeble
Options :
1. ¥ Strong



2. * Sick
3. * Frail
4. % Late

Question Number : 70 Question Id : 97675519268 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that is opposite in meaning to the given word.

Feeble
Options :

1. ¥ Strong
2. % Sick
3. # Frail
4, % Late

Question Number : 71 Question Id : 97675519269 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the CORRECTLY spelt word.
Options :

1. # Bookepeer

2. # Bookkeper

3. ¥ Bookkeeper

4. ¥ Bookeeper

Question Number : 71 Question Id : 97675519269 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the CORRECTLY spelt word.
Options :

1. # Bookepeer



2. # Bookkeper
3. ¥ Bookkeeper
4. ¥ Bookeeper

Question Number : 72 Question Id : 97675519270 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the CORRECTLY spelt word.
Options :

1. ¥ Restaurant

2. # Restorant

3. # Rastorent

4. % Restaurent

Question Number : 72 Question Id : 97675519270 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the CORRECTLY spelt word.
Options :

1. ¥ Restaurant

2. # Restorant

3. # Rastorent

4. % Restaurent

Question Number : 73 Question Id : 97675519271 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

To keep one’s fingers crossed
Options :

1. ¥ To wish for good luck or success



2. # Pay an extremely high price
3. ¥ Unmindful
4. # To acquire a property

Question Number : 73 Question Id : 97675519271 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

To keep one’s fingers crossed
Options :

1. % To wish for good luck or success
2. % Pay an extremely high price

3. % Unmindful

4. % To acquire a property

Question Number : 74 Question Id : 97675519272 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

To fight against long odds

Options :

1. ¥ To deal with tough situations
2. % To find some reason to quarrel
3. # To criticise someone

4. % To put someone at ease

Question Number : 74 Question Id : 97675519272 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.



To fight against long odds

Options :

1. ¥ To deal with tough situations
2. % To find some reason to quarrel
3. # To criticise someone

4. % To put someone at ease

Question Number : 75 Question Id : 97675519273 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that can substitute the given sentence.

One who pretends to be somebody else
Options :

1. ¥ Impostor

2. % Virtuoso

3. % Fugitive

4. ¥ Mercenary

Question Number : 75 Question Id : 97675519273 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that can substitute the given sentence.

One who pretends to be somebody else
Options :

1. ¥ Impostor

2. % Virtuoso

3. % Fugitive

4. ¥ Mercenary

Sub-Section Number : 2
Sub-Section Id : 9767551233
Question Shuffling Allowed : Yes



Question Id : 97675519274 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (76 to 80)
Read the following passage carefully and answer the questions given below.

It is an unlikely relationship, but the humble pigeon is a direct descendant of the group of dinosaurs that also includes the mighty Tyrannosaurus
rex.

The two species share a remarkable biological past. Museum palaeontologist Professor Paul Barrett explains how our new understanding of
dinosaur evolution is transforming the way scientists think.

Birds that fill the world's skies today are living dinosaurs, reminders of a distant and strange past. Decades of major new discoveries and studies
have A. researchers that there is a direct link between modern bird species and theropod dinosaurs. Once dinosaurs were thought of as
scaled-up lizards, but now they are regarded very differently.

Paul says, 'Dinosaurs have always sparked the imagination, but our views on these spectacular animals have changed continually through time.’
'Our image of dinosaurs is now quite different from that put forward by the first palacontologists working on these animals.'

We are in a period that palaeontologists call the 'dinosaur renaissance'. It began in the 1960s with the revolutionary discovery of Deinonychus, a
small predatory dinosaur that lived about 115 million years ago. It not only showed unique similarities to birds, but also appeared to be an
intelligent, fast-moving pack hunter, rather than a slow, plodding reptile.

New work on old specimens, and the discoveries of dinosaur and early bird species in the field, supported the idea that dinosaurs were the direct
ancestors of birds. Many features and behaviours that characterise living birds were also found in their dinosaur ancestors.

Perhaps most surprising of all was the discovery of dinosaurs with feathers, completely changing the scientific community's perception of their
appearance and behaviour.

Deinonychus was a theropod, one of a group of bipedal, carnivorous dinosaurs that also included Tyrannosaurus rex. Our knowledge of these
creatures is constantly changing as new fossils are unearthed.

During the course of their evolutionary history, the body size of some theropod groups gradually decreased - a trend that, together with many
other changes to the skeleton, ultimately led to the appearance of birds.

Paul says, 'In 1996 the first feathered dinosaur was announced and many others have come to light since. This work has shown that Deinonychus,
originally depicted as a scaly dinosaur, was actually feathered.'

Sub questions

Question Number : 76 Question Id : 97675519275 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The given passage mainly describes that:

Options :

1. * Why some of the species of Deinonychus died.

2. % How dinosaurs evolved into birds.



3. # What evidences does fossil fuels provide regarding evolution of dinosaurs.

4. % How theropod groups feathered in the 18th century.

Question Number : 77 Question Id : 97675519276 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is NOT correct regarding Deinonychus dinosaur?
Options :

1. ¥ It was a slow, plodding reptile.

2. # They lived about 115 million years ago.

3. # They were considered to be intelligent.

4. ® Their size was not very large.

Question Number : 78 Question Id : 97675519277 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following words can appropriately fill the blank marked as ‘A’?
Options :

1. ¥ Regaled

2. #® Depressed

3. ¥ Convinced

4. ® Surprised

Question Number : 79 Question Id : 97675519278 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When was the first feathered dinosaur announced?
Options :

1. ¥ 1960

2. % 1897

3. % 1870

4. ¥ 1996



Question Number : 80 Question Id : 97675519279 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Our image of dinosaurs is now quite different from that put forward by the first palacontologists working on these animals’.

Paul is talking about which previous image here?

Options :

1. # Birds that fill the world's skies today are living dinosaurs.
2. ¥ Dinosaurs are scaled-up lizards.

3. % Tyrannosaurs rex is a descendant of humble pigeon.

4. % Before 20th century, there were no evidence of feathered dinosaurs.

Question Id : 97675519274 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (76 to 80)
Read the following passage carefully and answer the questions given below.

It is an unlikely relationship, but the humble pigeon is a direct descendant of the group of dinosaurs that also includes the mighty Tyrannosaurus
rex.

The two species share a remarkable biological past. Museum palaeontologist Professor Paul Barrett explains how our new understanding of
dinosaur evolution is transforming the way scientists think.

Birds that fill the world's skies today are living dinosaurs, reminders of a distant and strange past. Decades of major new discoveries and studies
have A. researchers that there is a direct link between modern bird species and theropod dinosaurs. Once dinosaurs were thought of as
scaled-up lizards, but now they are regarded very differently.

Paul says, 'Dinosaurs have always sparked the imagination, but our views on these spectacular animals have changed continually through time.’
'Our image of dinosaurs is now quite different from that put forward by the first palacontologists working on these animals.'

We are in a period that palaeontologists call the 'dinosaur renaissance'. It began in the 1960s with the revolutionary discovery of Deinonychus, a
small predatory dinosaur that lived about 115 million years ago. It not only showed unique similarities to birds, but also appeared to be an
intelligent, fast-moving pack hunter, rather than a slow, plodding reptile.

New work on old specimens, and the discoveries of dinosaur and early bird species in the field, supported the idea that dinosaurs were the direct
ancestors of birds. Many features and behaviours that characterise living birds were also found in their dinosaur ancestors.

Perhaps most surprising of all was the discovery of dinosaurs with feathers, completely changing the scientific community's perception of their
appearance and behaviour.

Deinonychus was a theropod, one of a group of bipedal, carnivorous dinosaurs that also included Tyrannosaurus rex. Our knowledge of these
creatures is constantly changing as new fossils are unearthed.

During the course of their evolutionary history, the body size of some theropod groups gradually decreased - a trend that, together with many
other changes to the skeleton, ultimately led to the appearance of birds.



Paul says, 'In 1996 the first feathered dinosaur was announced and many others have come to light since. This work has shown that Deinonychus,
originally depicted as a scaly dinosaur, was actually feathered.'

Sub questions

Question Number : 76 Question Id : 97675519275 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The given passage mainly describes that:

Options :

1. ®¥ Why some of the species of Deinonychus died.

2. ¥ How dinosaurs evolved into birds.

3. # What evidences does fossil fuels provide regarding evolution of dinosaurs.

4. ¥ How theropod groups feathered in the 18th century.

Question Number : 77 Question Id : 97675519276 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is NOT correct regarding Deinonychus dinosaur?
Options :

1. ¥ It was a slow, plodding reptile.

2. % They lived about 115 million years ago.

3. # They were considered to be intelligent.

4. ® Their size was not very large.

Question Number : 78 Question Id : 97675519277 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following words can appropriately fill the blank marked as ‘A’?
Options :

1. #® Regaled

2. % Depressed

3. ¥ Convinced

4. ® Surprised



Question Number : 79 Question Id : 97675519278 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When was the first feathered dinosaur announced?
Options :

1. % 1960

2. % 1897

3. % 1870

4. ¥ 1996

Question Number : 80 Question Id : 97675519279 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Our image of dinosaurs is now quite different from that put forward by the first palacontologists working on these animals’.

Paul is talking about which previous image here?

Options :

1. % Birds that fill the world's skies today are living dinosaurs.

2. % Dinosaurs are scaled-up lizards.

3. # Tyrannosaurs rex is a descendant of humble pigeon.

4. ® Before 20th century, there were no evidence of feathered dinosaurs.

General Hindi
Group Number : 5
Group Id : 976755634
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0

Group Marks : 20



Is this Group for Examiner? : No

General Hindi
Section Id : 9767551064
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 16
Number of Questions to be attempted : 16
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 9767551234
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 97675519280 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau U Trsg & I Ay &1 T PIvU|
e

Options :

1. % G+ %
2. % 4+ d¥
3. I+ 8
4. % +7q¥

Question Number : 81 Question Id : 97675519280 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau 77U Teg & TEY TfY fawe &1 98 S|




Nt
Options :
1% . +7¢
2. 8 g+ Y
3.9 9+ T
4. % g+ ¥

Question Number : 82 Question Id : 97675519281 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f&T T Yo, T HH 1A DT

F=IRR

Options :

1. % fg 9amy

2. % HHYRY UMY
3. % gg gHNY

4. ¥ Sgdife JH™

Question Number : 82 Question Id : 97675519281 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f&T T Yoc; T HHI J1d BT

IBEUEH

Options :

1. % fgr o™

2. % HUYRY TA™
3. % gg gAY

4. ¢ Sgdife qAr



Question Number : 83 Question Id : 97675519282 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fraffEd & & 1 91 Teg G2 32
Options :

1. % 9lg

2. % JHIRIT

3. % 3

4. ¥ dUNYH

Question Number : 83 Question Id : 97675519282 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFoffad 7 3 &1 91 Wea e 82
Options :

1. #® 9llg

2. % JHIRI

3. %7

4. % HU™H

Question Number : 84 Question Id : 97675519283 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fqu 7 I & fRad ®IF &t gfd 1
T 1960 H o=l FicRme@ st g ol

Options :

1. % fqRUTGT
2. % JYIUA]

3. % fageiH

4. % fqu—



Question Number : 84 Question Id : 97675519283 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faQ T are ¥ o ®F & gfd @11
1960 H gt Femmem sl gs ol

Options :

1. % ORI
2.9 RYIUA]

3. % fageiq

4. % fada—

Question Number : 85 Question Id : 97675519284 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faT 77U Wrec; &1 farel s I BT
P

Options :

1. % PR
2. ¥ g
3. % HieH
4. % AU

Question Number : 85 Question Id : 97675519284 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faw 7 vsg 1 faeH Tsg 31d P
CAED

Options :



1. ¥ IR
2. ¥ Uipd
3. % ffeH

4. % QIO

Question Number : 86 Question Id : 97675519285 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f3T T4 Wree &1 wafgaTsh 31 Bifw|
g

Options :
1. ¥ IR
2. % Tidt
3. % it
4. % 3ffdxd

Question Number : 86 Question Id : 97675519285 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau 7Y Tsg 1 yataaTE! I1d ST
dg

Options :
1. ¥ IR
2. % Fidt
3. % Gift
4. % 3faxd

Question Number : 87 Question Id : 97675519286 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



frofefad wreal o ¥ Y gt &1 789 S|
Options :
1. % T2
2. % &=
3. ¢ B
4. % ¢af

Question Number : 87 Question Id : 97675519286 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafoiad 2rsal § & Y5 ac- &l 99 Bl |
Options :

1. # T2

2. 8 =

3. ¢ HBURl

4, ® Y31

Question Number : 88 Question Id : 97675519287 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafaRad aredl # ¥ 9Rd 919y &1 999 S|

Options :

1. ¢ 5O W & Bgd #= & MH B! deal g

2. % fHa Wl & Agd Sl g, fh ™ &l diear g

3. % O Wdl § Ag-d ST 8, o) T g & dear gl

4. % 99 fHaM Wdl § Hgd o dd1 8, b Wi &l ded gl

Question Number : 88 Question Id : 97675519287 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafoRad aredi |§ ¥ Jd 919 &1 I9- BT



Options :

1. ¢ forgm @dl § Agad B & UM P dedr gl

2. % fHa Wdl & Agd ol g, fh TaH &) diear g

3. % fHOe Qdl H Ag—d ST 8, o) T i & Aedr gl

4. % 9 fHam Qdl # Ag-d & ddT 8, b T\ &) Alear g |

Question Number : 89 Question Id : 97675519288 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRad aredl o ¥ SYad 916 &1 99 Sifod |

Options :

1. % Sq Md 3R Ry =1 a1y ugat o 99 TR &1 o1F H et
2. % S Titq MR Ry Y 1Y Ugd §U TR &1 1 o vt ot

3. ¢ Tia R R 1 1Y Ued gU OR &1 &1 Hf St ot

4. % gfe Ma 3R Ryar 1 1 ugd & A W BT B o Hat ot

Question Number : 89 Question Id : 97675519288 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoRad aredl & 3 Tyad 91 &1 98- Hifor|

Options :

1. % 9 Tt 3R Ry 1 a1y uedt A 99 R &1 B ot St
2. % S Titq SR Ry 1 W1 Ugd §U WR &1 &1 o drclt ot

3. ¢ 1id SR Ryan S W1 Ugd 8T TR &1 &1 off vl |

4. % gfe M 3R Ryar 41 91 ugd & @ R BT H1H i Har ot

Question Number : 90 Question Id : 97675519289 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frofead # & THfeRT I1d Biferu

Options :



1. ¢ qiaq
2. % g9

3. % g
4. % HHH

Question Number : 90 Question Id : 97675519289 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frfeRad & & THfeRT I1d Siferu
Options :

1. ¢ Fiad

2. % g9

3. % TRAT

4, % HbIH

Question Number : 91 Question Id : 97675519290 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafaRad areg © ®1a 3Md pifvT|

e ISR R A IR RCIGIRCIG IR
Options :

1. ¢ R A
2. % IfeTy gaamE
3. % 3quf yd

4. % GYTY IqHH

Question Number : 91 Question Id : 97675519290 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafaRad areg & ®1a 3R ST



e ISR R AN AR RCIGIRCIG IR
Options :

1. ¢ R A=
2. % IfeTy gaam
3. % Ul ¥

4. % GYTY IqHH

Question Number : 92 Question Id : 97675519291 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu U gt # Ty forme g &1 SUaiT fohan S S9! ugad Sifvg|
TS HEN BRI HHAR! KR g1 147 3R UTd I1d 9 UM & oIt IadH: avTd avTd 7R 74T

Options :
1. %1,
2.9 - |
3.% <

4.% 9

2

Question Number : 92 Question Id : 97675519291 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fou U gt # Ty forme g &1 SUaiT fohan S S9! uga™ Sifvg|
TS HEl WHR HHART RerR g1 747 3R UTd I1d deb UM & oIt g9 avTd avTd 7R 741

Options :
1. %1,
2.9 - |
3.% <

4.% 9



Question Number : 93 Question Id : 97675519292 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o, fiu 7o IR fawedl & 9, 39 faded o7 9o 3 ot fT 7T gerer & 31 &1 a9y U I oJad HRal g |
Had gl

Options :

1. ¢ 9d fora

2. % IR &l

3. % lal Ye-l

4. % dgd WUlal UeHl

Question Number : 93 Question Id : 97675519292 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed oy & fou 70 aR fawedl 6 9, 39 fawed &1 999 o S faU 0 GgTak & 3 &1 a98 T ¥ oad Rl 5|
SHAq drgl

Options :

1. ¢ 9d forg

2. % il &l

3. % lal Ye-l

4. % dgd Ulal el

Question Number : 94 Question Id : 97675519293 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o, fiu 7o IR fawed & 9, 39 faded o1 9o 3 o fT 7T gerer & 31 &1 a9y ¥U ¥ oJad HRal g |

refl G BT 1Y
Options :

1. % 3ey-qR 3fIHd G




2. ¥ BT UMl
3. % BT Bl Bl
4. % oI gU G Bl T HAT

Question Number : 94 Question Id : 97675519293 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o, fiu 70 IR fawedl § 9, 39 fawed o1 90 3 o1 f3T 70 JeTar & 31 &1 Jd9§ U I oJad SRl o |

ATl GH BT 1Y

Options :

1. % 3wy-g U G

2. ¢ D% gi-gd

3. % BTH 31 g

4. % Yo gU G Bl TG DA

Question Number : 95 Question Id : 97675519294 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed oy & fou U aR fawedl & 9, 39 fawed &1 999 o S faU 0 GgTak & 31 &1 a98 ¥ ¥ ad Rl 5|
cafaustiaas

Options :

1. % g ¢ &1 a1 BT

2. ® W IRA B B Hiod ST
3. % A0 & fquRid o1 g1

4. GG Y TG B el &

Question Number : 95 Question Id : 97675519294 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o, fiu 70 IR fawedl & 9, 39 fawed o1 7o 3 o1 3T 70 JeTer & 31 &1 Jd9§ U ¥ oJad Hral o |




cafivstaas

Options :

1. # Hg < P a1d Bl

2. % T IRA B B HidH ST
3. % 9 & fauid qor g

4. ¥ FUSTHA W 75 BIH Bl 8

Sub-Section Number : 2
Sub-Section Id : 9767551235
Question Shuffling Allowed : Yes

Question Id : 97675519295 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (96 to 100)

TR 1 YD Ug 3R T 7Y Uil o1 I8! SaR & |

AT Sila 1 IR AR GGG S H Y 1T At fob et 1 ANTer & <t g fas 1 ¢ | A = HeH-shaH IR HIMd Siad H g&ay
fopa & SIR T 1 S AT UeM &1 § o6 7y foq & orefi gias 38 M & | O 9 el Srpry ofR o1t & <fi=if ! i
foraT B | LRl BT Al WG & DI Pls BT &l gl [ - HGH 7 34T 8 | I & HRU AT A I $1 8| A Siia- H hifd a &1 94
fARIT 1 8 1 31 foreR i TorR ST, fasHT &1 U1 Fd= e fBAR gt | _

fOR 3 A &1 3a-1 fauTd €t g f 98 7 & o a9 a1 8 | 94Uy $iY &5 &1 3ad € | T8l 43} aRE ¥ §edld &1 HRU
fas1 81 3fd = 1 7 g1 TeTH Bl oRed & 3R A Rig & o oefl & Ul < o 11 39 3rd FRTS & fore Rl 3o &1 e
T8l § IR A BeTg & 1T SRIAT IS B 3R 7 I YU H TR Tg! b1 YU <ANCT IR U 1| fAFH &1 $UT H 3fd ISP UM oy,
S[EAd, HICATRIS, WYAR AT T 3R gaN € aUT HerR-Hsls & it gRA% § o a8 U &1 H1H Ul H &R ddl g | 3P Srardl
AR o1, WTe 3R I BT SADHR T & HRUT ! AYG 81 UTT ¢ | IS 3R SAiSal TR AT 63 aTd T3S o TR &R, STahT=T
3R o TR g arel GIEREL _

3ft ERBRI 3R [ ¥ TSR WO aTel A% U3 &1 g § S S IR ST, SHA U 8Id AIaTsd db S Ugdr g | S o &1
AT 3 H AT aTd & 3R STl o forg HoTr 1T O WIS Bt §og 31 o1 & & a1 e o1 agt STare iR U 3rdl g1t g1y e
TN B | 31 81 Ta] 31d dl §1d HRd gU Hfad 1 g1 o off Tohd € | TR, TR SR SU1d Bt AR A a1 A & U S1eT-3erT HId
& HUS ¢ | ISP U glex 3R SR § ol TRl Bl 3P U 3+ 781 ¢ & | TRHT W & fore =afda & o od, e 3iR . 6

Sub questions

Question Number : 96 Question Id : 97675519296 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

T4 Stta &1 IR R FaHg 991 H {69 &1 aie 82
Options :

1. % 3fIdSHR

2. ¢ fam

3. % Tl

4. % QHTID S a1t

Question Number : 97 Question Id : 97675519297 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
= TR & gl 2 &1 g B |
Options :

1. ¢ a9 & RaM

2. % fI3H T siftrmy

3. % a3 SR S

4. % {3 T T

Question Number : 98 Question Id : 97675519298 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f o HRUT AT A IAA H1 |2

Options :

1. % 3faSHRI
2. ¢ fagm

3. % YR
4. % T

Question Number : 99 Question Id : 97675519299 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
qa Sita- § hifd A &1 99 g &1 87




Options :

1. * H¥

2. ¢ fagm

3. % PR
4. % SffISHRI

Question Number : 100 Question Id : 97675519300 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

O @1 fh T | 9 YR & HaT &1 82
Options :

1. % s & foru ot gro

2. ¥ AR, THAT, BICARID GRI

3. % B IUAS HAT

4. % TR I3 H Heg Sl

Question Id : 97675519295 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (96 to 100)

TRITRT I YD Ug 3R [T Y U9l o1 9! SaR < |

AT S 1 el 3R JEHY & H Yo S1a1 It fobddt 1 aNTer § ol a8 fas o1 8 | fOu 3 Pad-shaH IR HHd Sita H g%I&y
foraT B oIk T Y St raumd ue™ o § o T faqm & orefi Sl Xg M 1 3R 2 el SirpT=r ofR 1t & i it i
{81 UR<ll 1 I TS B PIs DI BT &l olgl 19T 7 HeH 7 341 81| [aF & SR AT A I D1 § | A Siia- H shifa - &1 94
AR 1 8 1 31Tt foTeR it ToR STef, fas &1 U1 el e gl 8| .

O = T3S I Sa-1 giaemd &1 € fob a8 A & ol SHe & 71 8 | Iauud HiY 83 &1 ¢8d ¢ | T81 LI RS I 95a1d Bl HRU]
faxT1 81 3fd ST &1 7 g1 TeTH Bl oReXd & 3R 7 RIS & fo ofefl o Ul <1 oI 1| I8 3rd FRTS o forw TRl SoH &1 oo
el & SR A DTS b 7T SRIAT IS B 3R 7 I YU H T TS| BT YU AICT IR Ugd B | A BT HUT H ofd ISP UM ey,
S[EAd, HICARIG, WIYJIR RS T 3R GaNd § dUT Hels-HSTs & [0 SRAXC & oI a8 Bl &l HIH Ul H R adl & | 39D 3faral
Jafa=fia e, e 3R 931 &1 IR g & SRS THa 81 U || Ued iR SamfSal UR g - aTel A4S & U &R, SMTehTeT
3R T TR TG ATt G e & .

3ft ERBRT R BRI I Y= Vo a1 A Tl DI g1 SMF Tgdhx IR CalthiH, 3Hd 9 gid Hiasd d o Ugdl ¢ | S o3 &1
STaTE 3T H AR TTd & 3R FaTot & fore Sl 711 O TR1ST &t 5 SR fohan o & a1 fierar o1 9l Siare 3R 3 3fa g1 g1 firem




A1 ST 8l gl 319 al dTd HRd gU Afad ! g7 ¢ Ul Ihd § | TRal, TRHT 3R SR &1 AR - arel A7 & U STT-3e T Hiad
& DTS gl IUD U Blex 3R ISR g ol W] ! 3P Ui 3 ot 781 ¢ € 1 TRHT Wi & fore sufad o Iy U, e SR T €|

Sub questions

Question Number : 96 Question Id : 97675519296 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T4 Stta &1 IR R FaHg 991 § {69 &1 aieE 82
Options :

1. # JfdepR

2. ¢ fagH

3. % Tl

4. % FHTND BT et

Question Number : 97 Question Id : 97675519297 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I TN & el 2l &1 7o S|

Options :

1. ¢ a3 & e

2. *# fI3H U siftrmy
3. % fogM SR SOH
4. % oM t& i

Question Number : 98 Question Id : 97675519298 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fr o BRI AT A I H1 |2
Options :

1. % 3fdSHRI

2. ¢ fagm

3. % YR




4. % T

Question Number : 99 Question Id : 97675519299 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Oa Sita- § hifd A &1 99 g &1 87

Options :

1. % ¥

2. ¢ fagm

3. % YR
4. % JHfqSHRI

Question Number : 100 Question Id : 97675519300 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

O 1 {59 YR &1 a1 82
Options :

1. % s & forg 9ai g1

2. ¥ AR, TTHAT, HICARID GRI

3. ¥ 8 UK PRl

4. % R ISM A Hag Al

Disciplinel
Group Number : 6
Group Id : 976755635
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0

Group Marks : 20



Is this Group for Examiner? : No

Disciplinel
Section Id : 9767551065
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 9767551236
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 97675519301 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The angular momentum about the centre of force is always
Options :

1. ¥ conserved

2. % zero

3. * not conserved

4. * may or may not be conserved

Question Number : 101 Question Id : 97675519301 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
§0 & B P URd: HIUTT T gAR g gl
Options :

1.« TRf&d



2. % T
3. % IRf&d el
4. % IRM&a g Wt gbd g a1 et N 81 Fobd

Question Number : 102 Question Id : 97675519302 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Poisson Bracket of position ‘x’ and momentum ‘p’ is equal to
Options :

1. %0

2.% 1+2

3.¢ 1

4. % ]

Question Number : 102 Question Id : 97675519302 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U x> 3R G p* BT @l sbe P RR BT g
Options :

1. %0

2.% 1+2

3.1

4, % -1

Question Number : 103 Question Id : 97675519303 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What are the eigenvalues of projection operator?
Options :

1.* 0,0

2.¥40,1

3.% 1,-1



4. % —1,0

Question Number : 103 Question Id : 97675519303 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T TITe (W= 3iTReR) & ST HIH 3T 82
Options :

1. % 0,0

2.90,1

3.% 1,-1

4. % —1,0

Question Number : 104 Question Id : 97675519304 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the wavelength of 10 eV photon?
Options :

1. % 2120 A

2. % 1420 A

3.9 1240 A

4. % 1560 A

Question Number : 104 Question Id : 97675519304 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
10 eV I BT aTTG= FT R
Options :

1. % 2120 A

2. % 1420 A

3.9 1240 A

4. % 1560 A



Question Number : 105 Question Id : 97675519305 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

On which of the following, superconducting material is NOT depend?
Options :

1. ¥ Electric field

2. % Magnetic field

3. ¥ Magnetization

4. % Temperature

Question Number : 105 Question Id : 97675519305 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafefad 7 @ stfaeree uard fod i AR 8 82
Options :

1. ¢ fagga &=

2. % JgPH1Y &

3. % gIDH

4, % diqHA

Question Number : 106 Question Id : 97675519306 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the curl of vector magnetic potential?
Options :

1. ¥ Magnetic field

2. % Electric field

3. ¥ Propagation vector

4. # Current density

Question Number : 106 Question Id : 97675519306 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

few gaeia fava &1 ol o1 g1 82
Options :

1. ¢ JBIT &

2. % fagga &a

3. % GoRUTGiaw

4. ® YRTYdd

Question Number : 107 Question Id : 97675519307 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The charge on uus is

Options :
1.¥1
2.%2+3
3.%1+3
4. % 0

Question Number : 107 Question Id : 97675519307 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

uus TR 3ATART Eﬁ?ﬂ%l

Options :
1.9 1
2.%2+3
3.%1+3
4. % 0

Question Number : 108 Question Id : 97675519308 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The spin and parity of 4Be9 nucleus is
Options :

1.¥ 3+2 odd

2. % 7+2 even

3. % 5+2 odd

4. % 1+2 even

Question Number : 108 Question Id : 97675519308 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

,Be® TS &7 Tl () SR Jrgedd gl
Options :

1. ¢ 3+2, favg

2. % 7+2 YH

3. % 5+ fqum

4, % 1+2,49H

Question Number : 109 Question Id : 97675519309 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The Boltzmann entropy probability relation is
Options :

1.¥ S=kslogQ

2. % S=2kslog Q

3. % S=kslog2 Q

4. % S=ks/2logQ

Question Number : 109 Question Id : 97675519309 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Secoi TTd Tiiedr Sae g



Options :

1. ¥ S=kslog Q
2. % S=2kslog Q
3. % S=kslog2 Q
4. % S=ks/2log Q

Question Number : 110 Question Id : 97675519310 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the entropy of linear collection of three independent spin 1/2 particle each at fixed location?
Options :

1. % 3k log8

2. % 3ks log2

3. % 6ks log8

4. % 6ks log2

Question Number : 110 Question Id : 97675519310 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A3 R &R i Tads g1 () 1/2 S0, TS & SR9d G &1 Tgrdl o g
Options :

1. # 3ks log8

2. ¥ 3ks log2

3. % 6ks log8

4. % 6ks log2

Question Number : 111 Question Id : 97675519311 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Ensemble in which the number of particles, volume and energy is same for all elements:
Options :

1. ¥ Microcanonical



2. % Canonical
3. ¥ Grand canonical

4. ¥ Microcanonical and canonical

Question Number : 111 Question Id : 97675519311 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

98 G ForaH Uil Bt T, 3aa 3R Fofl gt dedl & o A gl 8, HEAI gl
Options :

1. ¥ YA fafgd (Argshicb-ilcban)

2. % fafgd (FAIRFq)

3. % ggq fafed @is FAwa)

4. % geH fafgd SR fafled (ARHIGAIHA and BAIDB)

Question Number : 112 Question Id : 97675519312 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When the average distance between the two particle is large as compared to De-Broglie wavelength, then two particles are
Options :

1. ¢ distinguishable

2. # indistinguishable

3. # can be distinguishable and indistinguishable

4. ® npeither distinguishable nor indistinguishable

Question Number : 112 Question Id : 97675519312 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

WIS & BUIT & o1 B 3N g, Ssel TS B! o & ISt 8l 8, dl ST b |
Options :

1. ¢ faug g e

2. % JHfANFT A E



3. % a0 AR SN T gba &
4. % TN A0TSR TR Afavg A §

Question Number : 113 Question Id : 97675519313 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the spin of the dirac particle?
Options :

1. %1

2.% —(3+2)

3.9 1+2

4. % 0

Question Number : 113 Question Id : 97675519313 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ST PHUT BT I () o1 82
Options :

1. %1

2.% —(3+2)

3.9 1+2

4. %0

Question Number : 114 Question Id : 97675519314 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The angular momentum of an electron moving in circular orbits is integral multiple of
Options :

1. # h

2.« R



3 & h—=2mT

4. ® h?

Question Number : 114 Question Id : 97675519314 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

JATBR B3N B T geide = BT BIuig FaT &1 quies! 0 BT B |
Options :

1. % h

2.¢ R
3. % h=+2m

4. & h?

Question Number : 115 Question Id : 97675519315 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The minimum value of potential applied to produce x-ray photon of wavelength 0.05 nm is
Options :

1. ¥ 24750 V

2. % 32670V

3. % 12670 V

4. % 45530V

Question Number : 115 Question Id : 97675519315 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

0.05 nm TG & TRIX Wie & Iadre & e ar] faya &1 gaaq 7F gl
Options :

1. ¥ 24750 V

2. % 32670V

3. % 12670V

4, % 45530V

Question Number : 116 Question Id : 97675519316 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which one of the following is NOT fermion?
Options :

1. % proton

2. # neutron

3. ¥ deuteron

4. % electron

Question Number : 116 Question Id : 97675519316 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ol § 3 o wiHsi— =gt o2
Options :

1. % Y

2. % g

3. SR

4. % A

Question Number : 117 Question Id : 97675519317 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is universal gate?



Options :
1. ¥ AND
2. ¥ NAND
3. % NOT
4, % XOR

Question Number : 117 Question Id : 97675519317 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FofiRed # 3 o1 b gR (@ add fie) 82
Options :

1. ¥ AND

2. ¥ NAND

3. % NOT

4. % XOR

Question Number : 118 Question Id : 97675519318 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many input and output in the half adder logic circuit?
Options :

1. ¥ 2 input and 2 output

2. % 2 input and 1 output

3. % 3 input and 2 output

4. # 1 input and 2 output

Question Number : 118 Question Id : 97675519318 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3t gIoies b uRuY (8T TeR dlfoies Tfdhe) # faba g7 3R 33eye 8Id /2

Options :




1. ¥ 2 3Ye 3R 2 3T3eYe
2. % 23Ye 3R | 3M3cYe
3. % 33Yc 3R 2 3M3TYC
4. % 1 3YC 3R 2 3MT3cYe

Question Number : 119 Question Id : 97675519319 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is inside the nucleus?

Options :

1. % proton only

2. # electron

3. % proton and neutron

4. % neutron and electron

Question Number : 119 Question Id : 97675519319 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YD & e AT BT 62

Options :

1. % had UeH

2. % AR

3. ¢ T 3R g2

4. % 2 3R SAFRH

Question Number : 120 Question Id : 97675519320 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the lattice spacing (A) between (110) planes in tetragonal?

Givena=b=2Aandc=15A.
Options :



N T L S
% B & S

Question Number : 120 Question Id : 97675519320 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fgaueianer (@emm=a) B (110) GHAG! & S STad SRT (A) T 8T 82
a=b=2A 3R c=15RATTRI

Options :

Lv V2

, % V3

; % Vb

4% VT
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Question Number : 121 Question Id : 97675519321 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The electron density and hole density in the doped germanium is 2 X 1010 per m? and 4.5 x 10%2 per m?>. What will be the electron-hole pair
concentration in the pure germanium at room temperature?

Options :

1. % 3 x 1018perm3
2. % 3 x10!° perm?
3. % 3x 107 perm?
4. ¥ 3 x 101 per m?



Question Number : 121 Question Id : 97675519321 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

10 forT T S o & gaaei- g9@ iR 5% T 2 x 1010 Ufd m3 3R 4.5 x 1022 Ufd m3 § | ATHRI AT0HM W Y[G o -9H & g --
fese g b1 Wigel o1 gri?

Options :

1. % 3% 108 Ufd m3
2. % 3% 1019 Ufd m3
3. % 3x 107 Ufd m3
4. 3 x 1010 gfd m3

Question Number : 122 Question Id : 97675519322 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Resolving power of the microscope is

Options :

1. # directly proportional to the wavelength

2. % inversely proportional to the wavelength

3. # directly proportional to the square of wavelength
4. % independent of wavelength

Question Number : 122 Question Id : 97675519322 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

et (AR HReIY) Bt fane amdr g

Options :

1. % TG & ST

2. ¢ TG & HIHATIU

3. % qTCe & a7l & SIHHTITTA

4, % qUCH I W




Question Number : 123 Question Id : 97675519323 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When two waves superimpose to each other gives resultant wave of lower, higher or same amplitude, the phenomena is called as
Options :

1. ¥ Interference

2. % Diffraction

3. #% Coherence

4, % Emission

Question Number : 123 Question Id : 97675519323 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

O &1 A Uah-gaik TR SERIUG Bichl &, dl UIRUMHT Rl 5, S a1 9T S &1 gl 6 | 39 U™ &l CIRSIGI
Options :

1. ¢ AfdeI0

2. % faTRor

3. % gdgdl

4. % IHoA

Question Number : 124 Question Id : 97675519324 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The magnification of the plane mirror is +1, it means image formed by plane mirror:
Options :

1. # real and inverted

2. % virtual and erect

3. # real and erect

4. % vyirtual and inverted

Question Number : 124 Question Id : 97675519324 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

A Ul BT 3Tae +1 B, 3971 1Y § IHad guur g1 Afdfa ufafds S|
Options :

1. % AP 3R IJeeT

2.« MU 3R tem

3. % gRdfde MR e

4. % MUY 3R IeeT

Question Number : 125 Question Id : 97675519325 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

At the nanoscale, melting point of the nano particles
Options :

1. # increases

2. ¥ decreases

3. ® remains constant

4. % first increase then decrease

Question Number : 125 Question Id : 97675519325 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A UM OR, A1 HUT BT TeAib
Options :

I % 9gdl g

2. ¥/ gcdl g

3. % RRI|ATT

4. % Ugd dgdl § fh geare

Question Number : 126 Question Id : 97675519326 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

What is the colour of gold particle at the nano scale?
Options :

1. # Yellow

2. % Red

3. % Orange

4. ¥ Variable

Question Number : 126 Question Id : 97675519326 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I TH TR T & HUT BT T BT 81T 82
Options :

1. % diem

2. % dld

3. % R

4.« URadl

Question Number : 127 Question Id : 97675519327 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT an example of top down approach for the preparation of nanomaterials?
Options :

1. % Ball milling

2. % Mechanical grinding

3. % Lithography technique

4. ¥ Chemical vapour deposition

Question Number : 127 Question Id : 97675519327 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafaa &  oF a1 39 IRl o daRt & fore 2y Ut IurT (eTa S134 31 &1 3aT8Rul 78l 82




Options :

1. % Shgdh UNUT (Sid fAfeim)
2. % giAd Urf&n

3. % [IUIITHT dh-id

4. ¢ IR g e

Question Number : 128 Question Id : 97675519328 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the range of wavelength in the UV spectroscopy known as Deep UV?
Options :

1. % 100 nm — 500 nm

2. % 200 nm — 400 nm

3.4 100 nm — 200 nm

4. % 0.1 mm - 100 mm

Question Number : 128 Question Id : 97675519328 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

UV ufafdeesq (Aaeredh # avmesf o dimr a1 8 59 S uv weT o 82
Options :

1. ¥ 100 nm — 500 nm

2. % 200 nm — 400 nm

3.4 100 nm — 200 nm

4. % 0.1 mm - 100 mm

Question Number : 129 Question Id : 97675519329 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following spectroscopy is known as magnetic resonance spectroscopy?
Options :



1. ¥ NMR
2. % UV
3. % IR
4. % MS

Question Number : 129 Question Id : 97675519329 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafead # 3 few ufafdaes= @) dueig s ufafdees ¥ e s e
Options :

1. ¥ NMR

2. % UV

3. % IR

4. % MS

Question Number : 130 Question Id : 97675519330 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Excited state of an atom is

Options :

1. # stable state

2. ¥ unstable state

3. % can be unstable or stable

4. # depends on the no. of atom

Question Number : 130 Question Id : 97675519330 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Teh TRATY 1 IARNA SfaT g g

Options :
1. % fRR 3@



2. ¢ R 3T
3. % IR 7 FRR 3awt
4. % TRETY &1 ¥& | R

Question Number : 131 Question Id : 97675519331 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
When an atom undergoes a transition from excited state to lower energy state by emitting a photon without external stimulation, the process is

Options :

1. ¥ Spontaneous emission
2. % Stimulated emission
3. % Stimulated absorption

4. % Spontaneous absorption

Question Number : 131 Question Id : 97675519331 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

OTd T TRUTY] S18<T IS & (o1 T Wled Soi- & HRUT SIToid ARy § 7 St siqwt § uikafdd gidr €, f 59 ufshar &t
ERIEII

Options :

1. ¢ Wd: IO

2. % U IO

3. # Jford SIRITT

4. % Wd: IR

Question Number : 132 Question Id : 97675519332 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The life time (1) of the strong interaction force is
Options :

1. % 10165



2. % 1020
3. % 10710
4.¢ 10235

Question Number : 132 Question Id : 97675519332 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S 31-fsha] e BT SiaebIel (1) gl
Options :

1. % 10165

2. % 10205

3. % 10105

4.9 1025

Question Number : 133 Question Id : 97675519333 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Electron is related to the

Options :

1. % baryon number family

2. # mesons family

3. ¥ lepton family

4. # hadron family

Question Number : 133 Question Id : 97675519333 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

sdged I IERaRl

Options :
1. % gRS{ FBAT URaR
2. % T URER



3. ¢ AP URAR
4. % g3 URAR

Question Number : 134 Question Id : 97675519334 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The particle which is known as the messenger particle of strong nuclear force is
Options :

1. # Lepton

2. % Muon

3. % Tauon

4. ¥ Gluon

Question Number : 134 Question Id : 97675519334 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HU DI Y YD1 I & GSATEH HUN & &g § ST 51l g |
Options :
1. % 9P
2. % Ta{q
3. % T3S
4. ¢ T3

Question Number : 135 Question Id : 97675519335 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The smallest thing in the universe is
Options :

1. # Protons

2. % Mesons

3. % Quarks



4. % Pions

Question Number : 135 Question Id : 97675519335 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ERISEREREIE I gl
Options :

1. % UM

2. % I

3. ¥ BTb

4. % fO3fq

Question Number : 136 Question Id : 97675519336 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In Debye model, specific heat at low temperature is directly proportional to
Options :

1. ¢ T3

2. % T2

3. T

4. % 14

Question Number : 136 Question Id : 97675519336 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S9! Afed H, HH dIaH IR ARy 3o & SIHHTIIT Bl & |

Options :
1.¢ T3
2. % T2
3.% T
4. % T4




Question Number : 137 Question Id : 97675519337 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The mean energy of the electron in the metal at 0 k is 6 eV. What is the fermi energy of the metal at 0 K?
Options :

1. % 12¢V

2. % 6eV

3. % 15eV

4. % 10eV

Question Number : 137 Question Id : 97675519337 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

4Td T 0 K TR SaaCI- B HIE Bl 6 eV 81 0 K TR 4T D1 TBHT SHoll ol gRT?
Options :

1. % 12eV

2. % 6eV

3. % 15eV

4. ¥ 10eV

Question Number : 138 Question Id : 97675519338 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Plasma is formed in the stars and other celestial bodies due to
Options :

1. ¥ high temperature

2. # low temperature

3. * high pressure

4. % low pressure

Question Number : 138 Question Id : 97675519338 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

WS BT AT aRT 3R 3= Teliy fiet | P PRUSIATG]
Options :

1. ¢ 3 dIUHHE

2. % g agaH

3. % IS

4. % g qE

Question Number : 139 Question Id : 97675519339 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Plasma was discovered by which English scientist?
Options :

1. # Wilson

2. ¥ William Crookes

3. ® Hertz

4. % Wauker

Question Number : 139 Question Id : 97675519339 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
GATSHT 1 Eiet oy 3iet dx=ieh = B 2
Options :

1. * foeg

2. ¢ faferaq o

3. % gl

4. % qHR

Question Number : 140 Question Id : 97675519340 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
The planet which is known as morning or evening star is

Options :

1. ®* Mercury
2. * Saturn
3. # Mars

4. ¥ Venus

Question Number : 140 Question Id : 97675519340 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 1 oIg T R BT TRT BT o1l g |

Options :
1. % dY
2. % i
3. % HIA
4. & b
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Question Number : 141 Question Id : 97675519341 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the type of Andromeda galaxy?
Options :

1. # Irregular

2. % Spiral

3. # Elliptical

4. % Lenticular

Question Number : 141 Question Id : 97675519341 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TS SMHTRA BT UHR FT 82
Options :

1. % 3ifafd

2. ¢ gitd

3. % dd gABR

4. % HYIHR



Question Number : 142 Question Id : 97675519342 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Cosmology which is the branch of astronomy concerned with the
Options :

1. ¥ Evolution of the universe

2. % Evolution of stars

3. # Evolution of planets

4. ¥ Evolution of the black holes

Question Number : 142 Question Id : 97675519342 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ERISIERIE! Y Feifrd et fas & A g |
Options :

1. ¢ Sl & fara

2. % dRI & [db1y

3. % UgI & fqprd

4. % &% gId & fad™

Question Number : 143 Question Id : 97675519343 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When all the elements in the 3 x 3 matrix is one, then eigen values of the matrix are
Options :

1.%1,1,1

2.93.0,0

3.% 1,0, 1

4. % 21,0

Question Number : 143 Question Id : 97675519343 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

O 3 x 3 3fTegg (Afea) H quft I T BId ], Y STUE & 312 |1 g gl
Options :

.# 1,1,1

2.%3,0,0

3.%1,0,1

4. % 21,0

Question Number : 144 Question Id : 97675519344 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The model which is extremely centralised and having diameter 2 is called as
Options :

1. # Fully connected Network

2. % Star Network

3. # Regular Network

4. # TIrregular Network

Question Number : 144 Question Id : 97675519344 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

98 ATsd Sl 3fcdd Fipd gidl § 3R e o 2 gar g, 39 HETSdT |
Options :

1. % WWW

2. ¢ dRI (XR) "cddh

3. % faffd Acds

4. % YT e

Question Number : 145 Question Id : 97675519345 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The theory in which the random states of disorder and irregularities are governed by deterministic laws is known as
Options :

1. ¥ Chaos theory

2. % Complexity theory

3. % Network theory

4. # Field theory

Question Number : 145 Question Id : 97675519345 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g Rigia e srega 3R sifafiradrsit 3t arefess sraw s fHawt grr R gid 8, 39 CERATICIES
Options :

1. ¢ 3RqeIdd] RIgid

2. % Sfeedr Rigid

3. % qead Rigia

4. % &= fRygid

Question Number : 146 Question Id : 97675519346 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the fixed points for the given system x = x—x?® andy = —6y.
Options :
1. % (0,-1),(1,0),(-1,0)
2. %(0,0), (-1, 1),(-1,0)
3.4 (0,0), (1, 0), (-1, 0)
4. % (0,0),(1,0),(1,2)

Question Number : 146 Question Id : 97675519346 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



o o fFes x = x—x® AN y=—6y & fov A= g 79 Hfaw
Options :

1. % (0,-1),(1,0),(-1,0)

2. %(0,0), (-1, 1),(-1,0)

3.9 (0,0),(1,0),(-1,0)

4. % (0,0),(1,0),(1,2)

Question Number : 147 Question Id : 97675519347 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The size of the string about the size of Planck length is of the order of
Options :

1. % 103 m

2.4 103 m

3.% 103 m

4. % 103 m

Question Number : 147 Question Id : 97675519347 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

G TGS o SMBR & URd: KT BT MHR & HH B G|
Options :

1. % 103 m

2.4 103 m

3.% 105 m

4. % 103 m

Question Number : 148 Question Id : 97675519348 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which of the following theory is based on unoriented open and closed strings?
Options :

1. ¥ Type-1 string

2. % Type-2 string

3. ¥ M-theory

4. ® Heterotic string

Question Number : 148 Question Id : 97675519348 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Prafifad 3 & B a1 Rigia s gat ok de R W amaia &2
Options :

1. ¢ <30-1 &

2. % 302 R

3. % M-Rygid

4. % gaafel &

Question Number : 149 Question Id : 97675519349 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
String theory is known as

Options :

1. # Theory of string

2. ¥ Theory of everything
3. % Theory of particle

4. # Theory of field

Question Number : 149 Question Id : 97675519349 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

&7 Rygid o1 & &g H FET ST

Options :




1. % Ko Rgid
2. ¢ AN & Rigid
3. % HU P Rigid
4. % &F & Rrgid

Question Number : 150 Question Id : 97675519350 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A theoretical framework in which point like particles of particle physics are replaced by string is known as
Options :

1. # Particle theory

2. ¥ String theory

3. % Radiation theory

4. # (lassical theory

Question Number : 150 Question Id : 97675519350 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP Jgifad hHad for e H01 Hifas! & fog ok Hull &I R gRT ufawifua faar S g, &1 HET a5
Options :

1. % U Ry

2. ¢ T R¥gia

3. % fafepzur Ryl

4. % URUR® Rgid

Question Number : 151 Question Id : 97675519351 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Medical Jurisprudence DOES NOT deal with which of the following?
Options :

1. % Rights and Duties of Doctors



2. # Medical Negligence
3. % Courtesy in medical profession
4. % Consent

Question Number : 151 Question Id : 97675519351 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Trdea® (AfsHhd SRS Y) Fafafad o 3 frad Jafid T 3
Options :

1. % ffe! & MfIBR Td S

2. % fIfbgs g dAuRarg!

3. ¢ Tfrcgas T Ul o A=

4. % ggHfd

Question Number : 152 Question Id : 97675519352 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In regard to medico-legal work in British India, the earliest hospital was established in which city for the treatment of sick soldiers?
Options :

1. ¥ Mumbai

2. ¥ Chennai

3. % Surat

4. % Kolkata

Question Number : 152 Question Id : 97675519352 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fofesr URa & Riferaa9-fafde w1 & ded & TR Al & ITaR & oy 69 e & 9ad UgdT SRudTd A1 far a1 4

Options :
1% g
2. ¢ I3




3. % Q@A
4. % BHIABTl

Question Number : 153 Question Id : 97675519353 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT included in the exception to oral evidence?
Options :

1. ¥ Medical certificate

2. # Dying declaration

3. # Expert opinion expressed in a treatise

4. ® Evidence of a doctor recorded in lower court

Question Number : 153 Question Id : 97675519353 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafafed & 9 o9 a1, Ma® 91ed & suare & i 8l 82
Options :

1. ¢ Tt gHoT

2. % HGhIeldh HYU

3. % YUl H ook fa=Iv BI >

4. % el graTerd | SffferRad fovam an ffdb e o1 Tea

Question Number : 154 Question Id : 97675519354 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT a type of inquest?
Options :

1. # Medical examiner system of inquest

2. ® Coroner's inquest

3. # Police inquest



4. ¥ Voluntary inquest

Question Number : 154 Question Id : 97675519354 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FrafefEd & & & 91, T TR $1 Sl (§9) T8l 272
Options :

1. % 3f=iier & Rfbgwg wieie yuref!

2. % HGHHI&D BT 3f=d1&0l

3. % Jfery o1 Sfdi&on

4. ¢ fsd Srdlemm

Question Number : 155 Question Id : 97675519355 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following type of inquest is NOT used in India anymore?

a. Coroner's Inquest
b. Police Inquest
c. Magistrate Inquest

Options :

1. ¥ Only a

2. % Only b

3. % Onlyc

4. % Alla,bandc

Question Number : 155 Question Id : 97675519355 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafefad o I foa UeR & 30T (inquest) BT 3@ HRA H IYTIT 81 b1 ST 82
a. TGHI&D BT S{l&fl



b. e T 3=dl&0r
c. AfSRST &1 3=a1&

Options :

1.¥ $Had a

2. % Bhad b

3. % ®ddc

4. ® a,b@l?cﬂlﬁ

Question Number : 156 Question Id : 97675519356 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is/are NOT the early post-mortem changes?

a. Adipocere
b. Livor mortis
c. Eyes changes

Options :

1. ¥ Only a

2. % Only b

3. % Onlyc

4. % Alla,bandc

Question Number : 156 Question Id : 97675519356 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofefad & ¥ o I/ RfYe Taudienr uRad 8/82

a. GUTRIFY (TSIURR)
b. foaR Aifdg (Livor mortis)

c. 3fial # gRac
Options :

1. ¥ $Had a

2. % Had b



3. % $Had c
4. #® a,bGﬁTcﬂlﬁ

Question Number : 157 Question Id : 97675519357 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is a test for stoppage of Respiration?
Options :

1. % Icards's test

2. % Magnus's test

3. ¢ Feather test

4. % Ligature test

Question Number : 157 Question Id : 97675519357 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Foffed & @ & 1, 497 Fh og T W 82
Options :

1. % 3BT DI TRIEUI

2. % TU BT URIEf0

3. ¢ TR WRI&

4. % forR e

Question Number : 158 Question Id : 97675519358 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is/are the characteristics of Mummification?

1. it occurs due to evaporation of water
2. it takes 3 months to 1 year to develop
3. skin of the body becomes black in color

Options :



1. # Both 1 and 3
2. % Both 1 and 2
3. % Both 2 and 3
4. % All1,2and 3

Question Number : 158 Question Id : 97675519358 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 1 3R 3 Ml
2. ¢ 1 3R 23
3. % 2 3R 3aMN
4. % 1,2 33T

Question Number : 159 Question Id : 97675519359 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is an example of a brain affecting poison called Somniferous?
Options :

1. % Nux vomica

2. #% Conium

3. # Cannabis

4. % Barbiturates

Question Number : 159 Question Id : 97675519359 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fFufafad 7 @ o 97 G- Hear dTd, AfTSh &1 GHIfd B aTd fay &1 IeT8 0T 82
Options :

1. % Hadl (e difi)

2. % PHITH

3. % HATeg

4. ¢ efegyeH

Question Number : 160 Question Id : 97675519360 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sudden stoppage of action of heart due to vasovagal attack resulting from reflex parasympathetic stimulation is a type of which mode of
death?

Options :

1. % Asphyxia
2. ¥ Syncope
3. % Anoxia

4, % Coma

Question Number : 160 Question Id : 97675519360 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfdad RIHUT IGa U & TRUIMERGREY dIigdhT ITRI GR & HRUI GEITA BT BT b o, [ UHR &1 I [T Byl 67
Options :

1. % YIATARIY (UFRR )
2. ¢ w3t (Riepl)

3. % UAIoadn

4. % JEIS! (DI
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Question Number : 161 Question Id : 97675519361 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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The facts established by the Ballistic experts during shooting related crimes is/are:

1. number of bullets fired
2. caliber of bullet
3. number of shooters

Options :
1. ¥ Both 1 and 2
2. % Both 1 and 3



3. # Both 2 and 3
4. % All1,2and 3

Question Number : 161 Question Id : 97675519361 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Treflar Yafdrd sraRref & SR UTaftes faRem gRT R frt 91 a1d 9 ©1H-8 8id 82

1. SRTY T8 Mifer ot TRe
2. Telt T HiTaR

3. Tl I Tl &l S
Options :

1.+ 1 3R 2 aHl

2. % 1 3R 3 gHl

3. % 2 3R 3 gl

4. % 1,2 33T

Question Number : 162 Question Id : 97675519362 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT a type of Unique Marking which helps to link a bullet at a crime scene back to the weapon?
Options :

1. # Rifling pattern

2. % Breech marks

3. % Propeller pattern

4. # Firing Pin impression

Question Number : 162 Question Id : 97675519362 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. # JqSHieAT e

2. % 9 A1

3. ¢ TOeR U

4. % BRI 09 31 811

Question Number : 163 Question Id : 97675519363 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement is/are TRUE regarding the Trajectory of the bullet?

1. Pythagorean's theorem can be used for triangulation with reference points
2. The bullet pass through the line-of sight from below and rises above the line-of departure
3. A bullet's path may be slightly curved due to gravity

Options :

1. # Both 1 and 2
2. % Both 2 and 3
3. % Both 1 and 3
4. % All1,2and 3

Question Number : 163 Question Id : 97675519363 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

el & H&uY & IR H FEfeiad # 3 o1 91/8 U 981 6/8?
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Options :

1. % 1 3R 2 Al
2. % 2 3R 3EH
3. ¢ 1 3R 3 aH
4. % 1,2 33T




Question Number : 164 Question Id : 97675519364 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following are examples of Long guns type of modern firearms?

a. shotguns
b. rifles
c. revolver
d. pistol

Options :

l.¥ aandb
2. % bandc
3. % a,candd
4. % a,bandd

Question Number : 164 Question Id : 97675519364 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoRed # I @ o1, ddl 4@ THR BT 31YFAE SMRd 82

a. QM=

b. JITH A

c. RaieeR

d. o
Options :

1. b/a\’rﬁ?ba:ﬁ
2. % b 3R cqHI
3. % a,ca:ﬁ&ﬁ?d
4.% a baHIl 3R d

Question Number : 165 Question Id : 97675519365 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Which of the following characteristics of cyber-crime is related to the crime with the potential of causing injury and loss of life?
Options :

1. # Virtual world

2. % People with specialized knowledge

3. # Collection of evidence

4. ¥ Magnitude of crime unimaginable

Question Number : 165 Question Id : 97675519365 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

R ARTY B FGIfad & T oI I fITdT, e AT ST I B D HTT a1 SRTY I Jefdd g2
Options :

1. % 3THR ST

2. % faf3ry 1 ol safaa

3. % TI&Y 1 Yhad (TU7)

4. ¢ 3(URTY BT B ed-1g GRHATIT

Question Number : 166 Question Id : 97675519366 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following category is NOT included in the attacks on system security that can be carried out via electronic mail?
Options :

1. # Shell script attacks

2. % Buffer overflow attacks

3. ¥ User network attacks

4. % Active content attacks

Question Number : 166 Question Id : 97675519366 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 2/ BpY gHa

2. % R SNARUA gHA
3. ¢ JUANGT Hedd gHdl

4. % gidhg I gHe

Question Number : 167 Question Id : 97675519367 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT a characteristic of a Keylogger?

Options :

1. ® Used as surveillance tool by employers to ensure employees use work computers for business purposes
2. % Used to monitor and log each of the keys typed into a computer keyboard

3. ® Used to capture screens and secretly turn on video or audio recorders

4. ¥ Used by attackers to download and install malicious codes onto a computer

Question Number : 167 Question Id : 97675519367 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ol § 3 oF W@, PIarR 31 U fa=ivar 78 &2
Options :

1. % HHAMNG! GRT BRI & DRI B AqATAD YIS A STANT o1 ST AT 3 & fod Haiaarsdi gR1 afdaid ¢d &1 akg
ST foaT ST g |
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3. % TP HER B, 3R [ ©0 Y A1l 1 et Rabrex a1 H- & o Tgad gt g |
4. ¢ HYR R gHI0f B SAIS 3R T B & AT SMehidmsel gRI Tgad i1 8 |

Question Number : 168 Question Id : 97675519368 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the wavelength range of the Visible light?



Options :

1. # 300 nm to 600 nm
2. % 400 nm to 700 nm
3. % 200 nm to 500 nm
4. # 500 nm to 700 nm

Question Number : 168 Question Id : 97675519368 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

=Y YD &I diTeed AT (R1) fopa it gidt 82
Options :

1. % 300 nm ¥ 600 nm

2. ¢ 400 nm ¥ 700 nm

3. % 200 nm ¥ 500 nm

4. % 500 nm ¥ 700 nm

Question Number : 169 Question Id : 97675519369 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT a correct combination of Wavelength range, Colour and its Major complements?
Options :

1. ¥ 400-450 nm, Blue, Yellow

2. % 500-560 nm, Green, Purple

3. # 490-500 nm, Blue-green, Red

4. % 590-625 nm, Orange, Green-blue

Question Number : 169 Question Id : 97675519369 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafefad & @ o9 91, areed T (IR, T 3R 396 T G| b1 U gl JaroH el 82

Options :




1. ¥ 400-450 nm, =tcT, Gl

2. % 500-560 nm, BT, ST

3. % 490-500 nm, A1c1-8%1, AT
4. % 590-625 nm, RN, BI-ATT

Question Number : 170 Question Id : 97675519370 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The lens speed has importance in which of the following?

1. Taking pictures in dim light
2. Controlling depth of filed
3. Taking pictures with telephoto lenses

Options :

1. % Only 1

2. % Both 1 and 3
3.¥ All 1,2 and 3
4. % Only 3

Question Number : 170 Question Id : 97675519370 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % $Had |

2. % 1 3R 3 Ml

3.¢ 1,2 3R 3 gut

4. % $Had 3



Question Number : 171 Question Id : 97675519371 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What color of tones are added when a photographer wants to add warmth to a scene?
Options :

1. # Bluish tones

2. % Orangish tones

3. #® Greyish tones

4. ¥ Reddish tones

Question Number : 171 Question Id : 97675519371 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % ey 3

2. % AR

3.8 IR T

4. ¥ TGATH T

Question Number : 172 Question Id : 97675519372 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The inner layer of hair is called

Options :

1. # Melanin

2. # Cortex

3. ¥ Medulla

4. # Follicle

Question Number : 172 Question Id : 97675519372 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Tel B 3R TRa HEaAn gl
Options :

1. % TafA

2. % Hlcqq

3. Hgal

4. ® BT

Question Number : 173 Question Id : 97675519373 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is known as the rest phase when hair stops growing completely?
Options :

1. # Anagen growth phase

2. ¥ Telogen growth phase

3. % Catagen growth phase

4. ¥ Melanocyte growth phase

Question Number : 173 Question Id : 97675519373 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % TToH gig SRl

2. ¥ TdIoH glg ARl

3. % o gl SfaRaT

4. % TA-IITEE gl A=

Question Number : 174 Question Id : 97675519374 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
The types of medullae found in human hair is/are:

1. Absent
2. Interrupted
3. Regular

Options :

1. % Only 1

2. % Both 1 and 3
3. ¥ Both 1 and 2
4. % Only 3

Question Number : 174 Question Id : 97675519374 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AT §Tat § UTE o aTd Aol (W aT) & UHR §:
1. 3urRd

2. SIfed

3. i

Options :

1. % &had |

2. % 1 3R 3 A

3.+ 1 3R 2 3T
4. % Had 3

Question Number : 175 Question Id : 97675519375 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the characteristics CANNOT be found from the hair analysis?

a. Mistreatment
b. Race



c. Gender
d. Age

Options :

1. ¥ Bothaandc

2. % Bothbandd

3. # Options a, band ¢
4. ¥ Options b, c and d

Question Number : 175 Question Id : 97675519375 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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SRINCENIE|
b. T&I
c. fefm

d. 31
Options :

1. % 3 3R cgHl
2. % b 3R d Ml
3.Wma,b3mc
4. v f[qHe b, c 3R d

Question Number : 176 Question Id : 97675519376 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following does NOT hold true when determining whether the hair is of an animal?
Options :

1. ¥ Medulla in an animal hair is less than one-third of the diameter of the hair

2. % Animals have thick continuous medullae

3. # Cuticular scales are arranged in a regular fashion

4. ® Absence of the classification system for medullae



Question Number : 176 Question Id : 97675519376 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 177 Question Id : 97675519377 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following structures are found in the middle layer of hair called Cortex?

1. Ovoid bodies
2. Keratin
3. Cortical Fusi

Options :

1. % Only 3

2. % Both 1 and 2
3. % Both 1 and 3
4. % Only 1

Question Number : 177 Question Id : 97675519377 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % $Had 3
2. % 1 3R 2 gHl
3. ¢ 1 3R 3 gl
4. % Had 1

Question Number : 178 Question Id : 97675519378 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is an example of a liquid mixture?
Options :

1. ¥ Gasoline

2. # Illicit drugs

3. % Paint chips with polymers

4. ¥ Rubble pile with explosive residues

Question Number : 178 Question Id : 97675519378 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ TretA

2. % 3fdY gaTd

3. % GgAP! (UIdTHY) & A1y Uwe fafom

4. % fqTPICH 3fARINI &b 1Y T6R BT X

Question Number : 179 Question Id : 97675519379 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following holds TRUE about the Gas Chromatography (GC)?



a. stationary phase is an inert gas
b. mobile phase is a thick, viscous liquid

Options :

1. % Onlya

2. % Only b

3. % Bothaandb
4. ¥ Neither a nor b

Question Number : 179 Question Id : 97675519379 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T ISR (St ) & eie & Fafeiad & 9 & @18l o

a. WD TR TH Mg T 5
b. T AT TS TMel, WH & 5 |
Options :

. % Hdda

2. % HAd b

3. % aS‘ﬁTbaT‘ﬁ

4. ¢YTWad8b

Question Number : 180 Question Id : 97675519380 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
An acidic solution will have a pH value
Options :

1. % greater than 7

2. % equal to 7

3. % of less than 7

4. % of less than and equal to 7

Question Number : 180 Question Id : 97675519380 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

TS 3y faagd &1 4w, (pH) 71 BRI
Options :

1. % 79 3%

2. % 7% SRR

3.¢ 7TUHH

4. % 7Y FHH 3R TP TR
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Question Number : 181 Question Id : 97675519381 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The evidence commonly analyzed by HPLC include:

1. Dyes
2. DNA
3. Inks

Options :

1. #* Only 1

2. % Both 1 and 2
3.+ Both 1 and 3
4. % Both 2 and 3

Question Number : 181 Question Id : 97675519381 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g, v . gRT gra: fAwaiftd fu 9 aral Jne & o9 3 2nfie g2

IRSCACIES))
2. SLTAT. (DNA)
3. TTE

Options :

1. % &Had 1

2. % | 3R 2EH
3.+ 1 3R 3 G
4. % 2 3R 3 qHl

Question Number : 182 Question Id : 97675519382 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

A method of teaching hand printing and writing by copying letter is called
Options :

1. # Requested exemplar

2. % Graphology

3. % Exemplar

4. ¥ Palmer

Question Number : 182 Question Id : 97675519382 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T3 fAfeUeor gRT Sl 3R ara- Riam &t fafd HEd gl
Options :

1. % SR ufaaH

2. % Yrprarsit

3. % YiqaH

4, ¢ IR

Question Number : 183 Question Id : 97675519383 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT correct about a Questioned document?

Options :

1. % Any written/printed communication between individuals whose source is in doubt.
2. # They can be written in ink, blood or even lipstick.

3. % It is written on any piece of paper available

4. ¥ They include wills, currency, or driver's license etc.

Question Number : 183 Question Id : 97675519383 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS UYTd S&1al & fawg § fafafea § § oF a1 a8t a8l 82



Options :

1. % il & &I Bl faRad/gfad dare o did St 8|
2. % 3 WY, Yo 1 forufess ¥ +ff o 8 gpdl B

3. ¥ U8 IS & (bl SUA Cha IR a1 sraT 6 |

4. % 3H g, A4, I7 A1H BT Az Sfe WA ¢ |

Question Number : 184 Question Id : 97675519384 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The method to render handwriting unreadable by crossing it out with another writing instrument or written over by a marking pen is known as

Options :

1. ¢ Obliterations
2. % Erasures

3. # Additions

4. ® Charring

Question Number : 184 Question Id : 97675519384 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

31 fafad e ¥ Pied §T AT HWR I HTfdh1 U4 gRT o U gxciad i Ui a1 &1 fafd HEAK g
Options :

1. ¢ fqaue (3fifeTe i)

2. % JEYT (JX)

3. % gRae ufse)

4. % 3TGg (TN

Question Number : 185 Question Id : 97675519385 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following method is NOT used for the detection of indented writing?



Options :

1. % Rubbing it with pencil lead
2. ¥ Use of bleaching agents

3. # Use of the oblique lighting
4. % ESDA

Question Number : 185 Question Id : 97675519385 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaied & @ & 9 fafd, SgRa s & IgEH 8 SUNT 81 &1 ot
Options :

1. % Ry offe I < ferm

2. ORI HHDT BT I

3. % e UhTI T IUTNT

4. % 3UYSIT (ESDA)

Question Number : 186 Question Id : 97675519386 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is/are objective(s) of a forensic autopsy?

I) Cause and manner of death
IT) To document both external and internal injuries
[IT)Identification of the victim

Options :

1. * T and II Only
2. ® T and III Only
3. ¥ II and III Only
4. % All 1 1l and III

Question Number : 186 Question Id : 97675519386 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

faffefe ey Taudten (BRRE aieiad) o1 Fafifad § @ 1 a1d e g g/ 82

1) g &1 HIRUT 3R ]

1) §Tel T4 3T dlel &1 Hfieiad
111 GifSd & ggaH

Options :

1. % Had 1 3R 11

2. % Had [ 3R 111

3. % %Had 11 3R 11

4. 1,11 3R 111 g+

Question Number : 187 Question Id : 97675519387 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is/are the types of medico legal investigative systems in the United States?

I) Coroner System
II)Henry System
IIT) Medical Examiner System

Options :

1. # I and II Only
2. % [ and III Only
3. % Il and III Only
4. % AIL I & NI

Question Number : 187 Question Id : 97675519387 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e g B Fafarean fafdies faaem yonferdt (@fes! i gafkenifed Rew) &1/ fRafefed & 9 &H 918 TR Uafed 8/8?
1) GEHI&P (HRIR) YUTTeit



1) BRI JUTTeit
111) FIf TP uieror yomeit

Options :

1. % $Had 13RI

2. Had 1 3R 111

3. % PHad 11 3R 111
4. % [ 11 3R 111 g+

Question Number : 188 Question Id : 97675519388 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT true about Sudden Infant Death Syndrome (SIDS)?
Options :

1. ¢ SIDS is hereditary in nature

2. % SIDS is a diagnosis of exclusion.

3. # Premature infants seem to be at a greater risk for SIDS.

4. ® The vast majority of SIDS deaths involve full-term infants.

Question Number : 188 Question Id : 97675519388 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T FaeTd g RIgH (SIDS) & fawa & faferiad & &1 w1 gl -1l 82

Options :

1. ¥ SIDS 3{TIafRI® UHid HTBAI g

2. % SIDS 3fUasH & FgH B

3. % JHUYD o AaeTrd fRIggef & e SIDs &1 SR sifdes Udid giar g
4. % SIDS & HRUT SABT TG GOITHT TR S qord RIST P18l |

Question Number : 189 Question Id : 97675519389 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which of the following is NOT a property of Carbon monoxide (CO)?
Options :

1. ¥ Colorless

2. % Tasteless

3. ¥ Irritating

4. % QOdorless

Question Number : 189 Question Id : 97675519389 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad # 9 SH-91, HIe ANSTRIES (CO) BT TH UreH T8l 82
Options :

1. ® TIEH

2. % WIGEH

3. ¥ Y&

4. % TYgH

Question Number : 190 Question Id : 97675519390 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The affinity of carbon monoxide for hemoglobin is times greater than that for oxygen.
Options :

1. % 10to 20

2. % 251050

3. % 50to 100

4.+ 250 to 300

Question Number : 190 Question Id : 97675519390 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RIS & T FHTe A SHTaTSS Bt SEdT, fiaie ot ga o T 31 el g

Options :



1. % 10920
2. % 25950
3. % 50 100
4. 250 9 300

Question Number : 191 Question Id : 97675519391 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following tests is used to determine whether a person has drowned?
Options :

1. ¥ Gettler chloride test

2. # Burking test

3. % Hydrostatic test

4. # Lipid test

Question Number : 191 Question Id : 97675519391 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

for<ft safaa o1 gam Ruffed wva & fore fFafafea & @ oF a1 uderor foear Sar g2
Options :

1. ¢ TICeR RIRTSS URI&

2. % FchT uRleru

3. % ZaRfAP (BRgRTCH) Tterur

4. % farfue gdiem

Question Number : 192 Question Id : 97675519392 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The acid phosphatase that is present in seminal fluid originates in
Options :

1. ¥ Prostate



2. * seminal vesicle
3. % Epididymis
4. # Leydig cell

Question Number : 192 Question Id : 97675519392 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
didf TR & SufRyd o wrhey ERCERGIE]
Options :

1. ¥ UReT

2. % DR
3. % gy
4. % ST PIRAT

Question Number : 193 Question Id : 97675519393 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following methods CANNOT be used to confirm seminal fluid not having spermatozoa?
Options :

1. # Crossover electrophoresis

2. # Ouchterlony double diffusion

3. % Microscopy

4. % ELISA

Question Number : 193 Question Id : 97675519393 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafied o 9 & 9 fafd, 3 aa o IH10] A 811 &1 g S o Forg ST =g 1 o Favait?
Options :

1. % PSR TARIPRRY (dGgdhUrdaer)

2. % I (Ouchterlony) ARG R




3. ¢ gercRie!
4. % T (ELISA)

Question Number : 194 Question Id : 97675519394 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The protein specific to semen known as prostate-specific antigen (PSA), is also referred to as in forensic terminology.
Options :

1. ¥ p30

2. % p55

3. % p25

4. % pll

Question Number : 194 Question Id : 97675519394 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

URee-WRifthe ToH (PSA) & =0 H 31 a1 &1 fafRry midi, fafdfife e (R Riew) Sscract o ft e gl
Options :

1. ¥ p30

2. * p55

3. % p25

4. % pll

Question Number : 195 Question Id : 97675519395 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following tests cause the blood-stained areas to emit light?

I) Luminol
IT) Fluorescein
[IT)Leucomalachite green

Options :
1. ¥ I and II Only



2. % Tand III Only
3. % II and III Only
4. % 11 Only

Question Number : 195 Question Id : 97675519395 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FAfIRad & I DIH-I1 URI&0T = TR IFaRIoId HRT UHTRT Iford HRd 62

1) G
1) TSR
11T) SgHHARSE HH

Options :

1. ¢ $ad 1 3R 11

2. % Had 1 3R 111
3. % PHad 11 3R 111
4. % FHad I

Question Number : 196 Question Id : 97675519396 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is involved in DNA quantification?
Options :

1. % STR

2. ¥ PCR

3. ®# Y-STR

4. % mtDNA

Question Number : 196 Question Id : 97675519396 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeafad & @ o ST (DNA) THEER | 2nfie 82



Options :
1. # STR
2. ¥ PCR
3. % Y-STR
4. ¥ mtDNA

Question Number : 197 Question Id : 97675519397 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The most widespread method of DNA analysis currently used in crime laboratories is
Options :

1. # RFLP

2. % PCR

3. ¥ mtDNA

4. ¥ STR

Question Number : 197 Question Id : 97675519397 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A H SMRTY TARTRIEret § UART o1 S aTeft, 18T (DNA) fazayu &t galfie s uaferd fafd gl
Options :

1. # RFLP

2. % PCR

3. ¥ mtDNA

4. ¥ STR

Question Number : 198 Question Id : 97675519398 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following DNA analysis techniques is useful in cases where there is a mixture of male and female DNA?
Options :

1. ¥ Y-STR



2. % STR
3. # mtDNA
4. % RFLP

Question Number : 198 Question Id : 97675519398 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafiad & 9 &9 T ST (DNA) fazayu de-ie T8 amal & Suanh § fomH gy iR Afge S1.uA.T. (DNA) &1 o gidr g2
Options :

1. ¥ Y-STR

2. % STR

3. * mtDNA

4. % RFLP

Question Number : 199 Question Id : 97675519399 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

is a database of DNA profiles maintained at the local, state, and national level. Its purpose is to help aid criminal investigations by
linking perpetrators to biological evidence.

Options :

1. # IRIDS

2. * Master DNA
3. ¥ CODIS

4. = CODIMS

Question Number : 199 Question Id : 97675519399 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
, SLTAT (DNA) NHTSd BT RIF, T SR AP TR TR I 11 STIaY & | ORI BT o Ted & Taie) RATud B
gV STRIASD qaaTrail & TeTdl &1 SUH] 3ge 5 |
Options :
1. % [RIDS




2. # HRCI DNA
3. ¥ CODIS
4. % CODIMS

Question Number : 200 Question Id : 97675519400 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following tests in performed to determine species of origin?
Options :

1. # Fluorescence Test

2. ¥ Precipitin Test

3. ® Walker Test

4. # Solubility Test

Question Number : 200 Question Id : 97675519400 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

R sifes SRS (=i 3ift SHifkfor) &1 FuRor e & fog Fafafad & 9§ &1 a1 usterr faar s g2
Options :

1. % piadifed (agaivd=a) wiemn

2. « UfRfufed udiemn

3. % Gl URIGT

4. % faoigar wigm



